AT Paper BEE

SECTION-1

Direcions for guestions I fa 40: Each of the five
massages given below iz followed by questions
Choosze the best answer for each question.

PASSAGE-]

The cwrert debate on intellectual property rights
(IFE.2) raises a number of importart 1ssues concerting
the strategy and policies for building a more dynaric
rational agricultural research system, the relative mles
of public and private sectors, and the role of
agnbusiness multinational corporations (WINCs), This
debate has been stinmlated by the internatioral
agreement on Trade Eelated Intellectual Property
Fightz (TEIPs), negotiated az part of the Uriguay
Found TEIF:, for the first time, seeks to bring
imovations in agacultual technology under a new
wirldwide [FE regime. The agnbusiness MBCs (along
with pharmacetical companies) played a leading part
in lobbying for such a regime during the Uriguay
Found negotiations. The argqument was that incentives
are necessary to stimulate innowvations, and that this
calls fora system of patents which gives innovators the
sole night to use (or sellflease the right to use) their
imovations for a specified penod and protects them
against unauthorised copying or use With sirong
support of ther national govemuments, \they “GwEte
influential in shaping the agreement on TR [Pepwdich
eventually emnerzed fom the o Bound,

The curent debate on TRIP: in Inflia .~ 8s mdeed
glsewhere - echoes  wader © congerns  abod
‘privatization’ of research d0d allowing a free field for
WIMCs in the sphere ofdiotechnology and agriculture,
The agribusiness corplorations, and  those  wath
unbounded faith i thespower of sclence to overcome
all likely problems, foint tothe wast potential that new
technalogy holds fog golving the problems of hanger,
tralnutritidn and fowerty in the world The exploitation
of thigspotential should be encouraged and this is best
done By “the) private sector for which patents are
essefiialy) Sotne, who do not necessarily accept this
optitrd st argae that fears of WINC dormination are
exaggerated and that farmers will accept their products
otly if they decisively outpetrform the available
altematives. Those who argue against agreeing to
ittroduce an PR regitme in agracolhue  and
ercowaging private sector research are apprehensive
that this will work to the disadvantage of fartners by
traking  thern tore and  more  dependent on
monopolistic WINCs A differert, though related
apprehension 15 that extensiwe use of hybrids and
genetically engineered new varieties might increase

the wulnerability of agriculture to outhrealks of pests
and diseases. The larger, longerterm consequences of
reduced biodiversity that may follow from the use of
specially bred waneties are also another camse for
concem. Woreover, corparations, diven by (the @rofit
motive, Wwill neceszarnly tend to undefplag, if not
ignore, potential adwerse consequences, espesially
those which are unlmowm and width, mayg, man fest
themselves only over a relatively long period. Cn the
other hand, highpresswre adwertising and aggressive
sales campaigns by private compaties can seduce
farmers into accepting varietigs without being aware of
potential adverse effects and™ the possikility of
dizastrous consequences fordtheir livelihood if these
vatieties happen to dail. (There is no provision under
the laws, agsthey nwadeist, for conpensating users
against such eventyalities.

Excessise prepcoupation with seeds and seed materal
tas (ohaguted | other important issues mwvolved in
rériewing the research policy. We need to renind
ourselveasthat improved vaneties by themselves are
notsufficient for sustained growth of yields, in our
o experience, somne of the eady high yielding
vatieties (HYVs) of rice and wheat were found
susceptible to widespread pest attacks, and some had
problerns of grmin gquality Further research was
necessaty to solve these problems This largely
successfil research was almost entirely done in public
tessarch institutions. OF course, it could in principle
tawe heen done v private corpardes, bt whether they
choose to do so depends crucially on the extent of the
lozs in marlket for ther original introdoctions on
account of the abowe factors and whether the
cotrparies are financially strong enough to ahsarb the
1osses”, itwest in research to correct the deficiencies
atd recover the lost tratlet. Public research, which is
not driven by profit, is better placed to take corrective
action. Fesearch for improwing cormon poal resource
management, maintaining  ecological health and
ensuning  sustainability iz both coritical and  also
deranding in terms of techmological challenge and
resource requirements. As such research iz crudal to
the impact of new varieties, chemicals and equipment
in the fanmer’s field, private conganies should be
interested in such research. But their primary interest is
i the sale of seed materials, chemicals, equipment and
other inputs produced by them Knowledge and
techmgques for resource managemert are oot
‘marketable’ in the same way as those inputs. Their
application to land, water and forestz has a long
geatation and their efficacy depends on resolving
difficult problems such as designing institotions for
proper and equitable management of comemon pool




resources. Public or quasipublic ressarch institutions
inforrned by broader, long-tenm concerns can only do
such worle

The public sector tnust therefore continue to play a
trajor role in the national ressarch systetn It iz both
wrong and tmideading to pose the problem in tetms of
public sector wersus private sector or of privatisation of
teseatch. We need to address problems likely to atise
ot account  of  the  public-private  sector
cotrpletmentarity, and ensure that the public research
systetn petforms efficiently. Complementanty between
watious eletnerts of research raises several issues in
implementing an [PE. regitme. Private cotrpaties do
tot produce new varieties and inputs entirely as a
result of their own research. Almost all technological
irmprovement iz bazed on lmowledge and expetience
accumulated from the past, and the results of basic and
applied research in public and quasi-public instibutions
(universities, research organisations). MWoreover, as is
increasingly  recogmeed,  acowmulated  stock  of
lmowledge does not reside only in the scentific
corrrunity and its academic publications, bat 12 also
widely diffuzed in tmditions and folk lknmowledge of
local commmuinities all over.

The deciphenng of the stmcture and finctioning of
DHA  fonms the basis of much of modem
hiotechnology. Bt thiz findamental brealthrough isa
‘public good” freely accessible in the public domain
and usable free of any charge Wareties! techmiques
deweloped using that lmowledge can howewer be, and
are, patented for provate profit Similady, provate
comporations  drw  extensively, and  without™ any
charge, on germ plasm available in varieties of planis
gpecies (neemn and tumenc are by n@w fAmous
exzarples). Publicly findea gene bankcseas swell as new
wvatieties bred by public sector research statiofis can
also be used feely by private efterprises for
developing their own wvarieties\énd [seel patert
protection  for then, Shouwld privabe® treeders be
allowed free use of basic soerbific dizcovenes? Should
the repostones of tmdithenal) knowledoe and germ
plastn be collected sthichare maintained and woproved
by publicly findedtorgatusations? Or should users be
trade to pay fatheuch use? I they are to pay, what
should beathe Basstof compensation? Should the
compensation WGhe  for  indiwduals oo (or
corrridfutie sfinstiiitions to which they belong? Should
indisr dial sMinstitutions be given the right of patenting
their thngrations? These are some of the irgportant
ismues that deserve more attention than they now get
and nieed serious detailed stady to evolve reasonably
satisfactory, fAir and workable solutions. Firally, the
tendency to equate the public sector with the
governtrient iz wrong The public space iz much wider
ttan  gowertunent  departments and  includes  co-
opetatives, urdversities, public trusts and a wariety of
non-govermment  departments and  includes  co-
operatives, universities, public trusts and a variety of
non-govenmental

orgarisations (MGOs). Giving greater autonotny to
tessarch organisations fom governmnent control and
giwing non- government public institations the space
and resources to play a larger, more effective role in
research, is thetefore an issue of ditect relevatice in
restructuring the public ressarch systemn.

L. Which one of the fllowing statements
describes an irpottant issue, o itrpottant
issues, not being taized in the contézd af the
cutrent debate on IPR.sY
a. The role of WMNCs in 4he sphere of
biotechnology and agriculture:

b. The strategy and policies fox establishing
an JFE regime for Indian a griculbire.

c. The relative roles of public and prvate

sectors.

d. Wider concems sbolt ‘privatisation’ of
researchy

2 The fundamesital brealdhrough in. deciphering

the stmactuie and fonctioning of DMNA has

begome a public good. This means that;

g ‘Grealthroughs in fundamental research on
DA are accessible by all wathout any
mionetary congderations.

b #the fundamental research on DA haz the
characteristic of having beneficial effects
for the public at large,

c. due to the large scale of fundamertal
research on DA | it fllsin the dormain of
public sector research institulions

d. the public and other companies must have
free access to such  fundamental
brealthroughs in research.

3. In debating the respective roles of the putlic
and private sectors in the national research
syatetn, it is inmportant to recogrise;

a. that private companies do not produce new
varieties and inputs entirely on theit owm
research.

b, that almost all technological
improvernents are based on knowledge
and expenience accurnulated from the past.

c. the complementary role of public- and
private-sector research

d. that knowledge repostories are primarily
the scentific commmunity and its acaderric
publications.

4 Which one of the following may provide

incentives to address the problem of potential
adwerse consequences of Wotechnol ogy?
a. Include PR issuez in the TEIPg

agreetnent.

b, Mationalize WINCs engaged in private
ressarch in bictechnology.

c. Encowage domestic fitms to patent their
innovations,




d. Make prowsions in the law for user
comnpensation against failure of newdy
developed wmrieties.

Which of the following statemments iz not a

likely consequence of emerging technologies

inagriculture?

a. Development of newer and newer watieties
will lead to increase it hiodiversity.

b, MMCs tnany underplay  the nemative
cotizequences of the newer technology on
et ottrent.

c. Mewer varieties of seeds tray increase
vilnerability of crops to pests and
dizeases.

d Feform in patert laws and  user
comnpensation against crop falures would
be needed to address new technology
problems.

The TEIP: agreement emerged fom the

Tguay Found to;

a. address  the problem  of  adwerse
consequences of genetically engineered
new varieties of grain,

b fulfil the WTO requrement to have an
agreement, on trade related property
rights.

c. provide incentives to innovators by way of
protecting their intellectual property.

d. give credbility to the innovations made by
LIMCs in the field of pharmaceuticals and
agriculture,

Public or quasi-pubic research institutiafistare

more likely than private compandes to address

the negative  consequences (\of [ new
technclogies, because of which  of “the
following reasons?

a. Public research iz nft diven by profit
motive.

b, Private companies mayemét be able to
ahsoth losses afging ot of the negative
effects of the figwtechnologies.

c. Unlike@ynewr technology  products,
knowledge “and techmiques for resource
mAtAagement are not amenable to smple
trarket tratsactions,

d. DAl the abowe.

While deseloping a strategy and polices for

bualdintg a more dynarnic national agd cultural

tegearch systemn, which one of the following
staternents needsto be considered?

a. Publicand quasi-public instituions are not
interested in making profits.

b, Public and quasi-public institutions have a
broadet and long-term outlook than private
COtnpaties.

c. Private companies are incapable of
building products based on traditional and
fiollk knowdedge.

d. Traditional and folk knowledge cannot be
protected by patents.

PASSAGE -II

One of the criteria by which we judge the vitality of a
gyle of painting is its abidity to renew itzelft its
responsiveness to the changing natre and quality of
experience, the degree of conceptual and formmel
imnovation that it exhubits. By this criteriong it wauld
appear that the practice of abstractionismfhas filedto
engage creatively with the mdical change in“hwnman
expenence in recent decades. it had Sgesmindy, been
wrwilling to re-itvent itself in relation to) the systems
of artistic expression and iewers expectations that
tave developed under the itfipact ofthe mas: meda,
The judgernent that abstrachionism has slipped indo
ineria geat” 15 gaining endorsement, not only among
dizceming wewergand practitioners of other art formes,
tt alzo arnong abstect painters themseelves, Like their
cotrpard onselsewhese il the woirld, abstraction lists in
India are asking themselves an overwhelming question
today: Isoes@hstract onismn hawe a future? The major-
crisig that abstractionists face is that of revitalising
thieir gictupe” surface, few hawe mmprowised any
soluti onabieyond the ones that were exhausted by the |
U7l& Like all revolutions, whether in politics or in att,
ahstract ord st st now confront its moment of trothe
tawing begun life as a new and radical pictonal
approach to expenience, it has become an entrenched
otthodony  itzelf Indesd, when wiewed against a
bistorical situation in which a wvariety of subwerdive,
interactive and fchly hybrid forms are available to the
att practitioner, abstractonistn assumes the remote and
defiant air of an aristoctacy that has outlived its age,
tramtnelled by forridaic conventions yet buttressed by
a rhetonic of sacred moystery, it seems condemned to
being the last citadel of the selfregarding “fine art’
tradition, the last nrrah of painting for painting' s
gale.

The situation is further complicated i India by the
crcurnstances in which an indigenous abstractionism
came into prominence here during the 1960z, From the
beginning it was propelled by the dialectic between
two  motives, e revolulionary and the other
conservalive-it  was inaugurated az an act of
erancipation fom the dogmas of the nascert Indian
mation state, when an’ was offidally wiewed as an
indulgence at worst, and at best, as an instrument for
the celebration of the republic’s hopes and aspirations.
Hawing reected these dogmas, the pioneering
ahstractionists also went on to reject the wvanous
fiqumative styles associated with the Sartinilcetan circle
and others. In such a situation, abstractionism was a
revolutionary move, It led art towards the exploration
of the s 3onsc.ous mind, the spirtual gquest and the
possible expansion of consclousness. Indian painting
entered into a phase of self-inquiry, a meditative inner




space where costric symmbols and non-representational
irages ruled Often, the transition fom fgurative
idioms to abstractiondst ones tock place wathin the
satne attist.

At the satne time, Indian abstractiorists hawe rarely
corrnitted  themselves  wholeheattedly  to &
notrepresentational  idiomn. They  have  heen
preoccupied with the fondamentally metaphysical
project of aspiring to the mystical- holy withms
altogether renouncing the symbolic. This has been
sustained by a hereditaty teluctance to give up the
traarti, the itvrclable icotdc fortn, which explains why
ahstractiomam is trarked by the conservative tendency
to operate with immages from the sacred repertoire of
the past. Abstractionism thus entered India as a
double-edged device ina cormplex cultual transaction.
idenlogically, 1t serwed as an  internatiomalist
legitimisation the emerging revaolutionary local trends.
However, on entry, it was conscripted to serve local
artistic preoccupations a  surwey  of  indigenous
ahstractionism will show that itz most obwious points
of affimty with Ewopean and American abstract art
were with the more mystically oriented of the major
sources of abstractionist philosophy and practice, for
instance the Kandinsky-Klee school. There have heen
no  talers  for Dlalewich’s Suprematism, which
militantly rejected both the aristic forms of the past
and the world of appearances, privileging the new-
minted geometric symbol as an autonamous sagn of the
dedre for infinity.

Aginst this baclkdrop, we can identify three major
ahstractionist idoms in Indian art. The first defelops
from a love of the earth, and assumes the fasm G a
celebmtion of the selfs dissolution in the cosmiE
manorama, the landscape is no longes,a realistic,
transcription of the scene, but is tmnsforraed into a
visionary occasion for comtemplating the \eycles of
decay and regeneration. The secondfdiofn pluases its
depattures fom symbolic and archetypal desices as
irwitations  to  heightened planes of awareness,
Abstractionism  begins Wathothe establishtment or
dissolution of the dhetif)wiich can be dmwn from
diverse sources, includitig the hieroglyphic tablet, the
oufl meditatidoNdance or the Tantrie diagram. The
third- idiopgis base dian the lyric play of forms maded
by gesturetar Allisd with forrnal itmprovisations like the
asserrblage \Here, sometimes, the line dividing
ahgtra ctimage from pattemed design or quasi-randorm
expresawe matking may blur. The flux of forms can
also be regirnented through the poetics of pure colour
atrangernents,  wector-diagramtnatic spaces  anti
gestural design.

such syrrbolism s into a dual trap: it succurnbs to
the pompous vacuty of pure metaphysics when the
turden of intention is passed off as justification; or
then it iz desiccated by the arid formalism of pure
painterliness, with delight in the measure of chance or
mattern guiding the execution of a pairting The
ensuing conflict of purpose stalls the progress of

ahstractioriam in an impasse. The retratiable Indian
ahstractionists are precisely those who have overcome
thiz and addressed themselves to the basic elements of
their art with a decisive sense of independence from
priot models. In their recent wotls, we see the logc of
Ihdiatn abstractionism pushed altmost to the fathest it
catt he taken Beyond such attistz stands a lost
getietation of abstractionists whose wotls involzes a
wistfial, delicate heauty but stops there.

Ahstractionian is fiot a urdversal language; it iz an art
that poitits up the loss of a shared language of agns in
society. And wet, it affirns the possibility ofVits
recovery through the effort of avareress While its
thetoric has always emphasized a callefor new forms of
attention, abstractionist practice his tended to fall inta
a complacent pride in its own incamprebensibility, a
complacency fatal in an @thos wihefe vibrant new
idioms compete for the Wewers) attention Indian
ahstractionists ought to reallsmfetum to basics, to
refommulate and reglénish their understanding of the
mature of the relationdip, between the painted image
and the worldsaroynd it/ But will they abandon their
fawourite canceptual hahits and formal conventions, if
thiz becomesne cesgary”

9 Which one of the following is not stated by the
author as a reason for abstractiomsm losing its
vitality?

a.  Ahstractionism has failed to reorient itself
in the context of changing human
EXC[ETi ELICE,

b, Abstractionistn has not considered the
developments in artistic expression that
have taken place in recent times.

c. Abstractionism has not followed the path
taken by all revolutions, whether in
politics or art.

d. The impact of mass media on viewers’
expectations has not been assessed, and
responded to, by abstracti ondsm.

10. Which one of the followang, according to the
author, 15 the role that abstractionism plays in
a society?

a It prowides an idiom that can be
understood by most memnbers it a society.

b, It highlightz the absence of a shared
language of mearingful syrobols which
can  be recreated through  greater
AW EFES S,

c. [t highlight: the contradictory atbistic
trends of resolution and conserwatism that
any society needs to tove forward.

d. it helps abstractionist involee the wastfal,
delicate beauty that may exist it society.

11. According to the author, which one of the
followang charactenses the corisis faced hy
ghstra ctionism?




12,

13.

14.

15,

16.

a. Abstractionists appear to be unable to
transcend the solutions tried out earlier

b, Abstractionism has allowed itself to be
cotfined by set forrns and practices.

c. Ahstractionists have been urahle to use
the rultiplicity of forms now becotning
available to an attist.

d. All ofthe abowe.

According to the author, the introduction of

abstractionistn was revolutionary because it

a. celebrated the hopes and aspirations of a
newly independent nation.

h. provided a new direction to Indian att,
towards  zelf  ingqury  and non-
representational images.

c. tmanaged to obtain internationalist support
for theabstractionist agenda.

d. was an emandpation form the dognas of
the nascent nation state.

Which one of the following iz not part of the

author’ s clamcterization of the conservative

trend in India abstractiond sm?

a. An exploration ofthe subconscious mind.

b A lack of full comrmitment to non-
representational symbols,

c. An adherence to the symbolic while
aspining to the orystical.

d. Usage of the images of gods or sinular
symbals,

Given the author’s delineation of the three

abstractioist idioms in Indian art, the thard

idiom can be best distinguished from the other
two idiomes through its:

a. depiction of nature’s cyclical rénewal,

b, useofnon-representationaldmages,

c. etmphasis onarangement of forts.

d. limited reliance on ori@ginalmodels,

According to the author, the attfaction of the

Kandinsloy-Klee school for Trdidn abtractionist

catt be explained by which one of the

foll owingy

a. The cosfeervative tenidency to aspire to the
trrystical) withaut a complete renuncation
of thesymabolic.

b_qThediscatnfort of Indian abstractionists
wathllal evich’ s Suprematism.

g, Lhe easzy identification of obwious points
of affiraty with European and American
ghstract art, of which the Kandinsky-Klee
school isan example.

d. The double-edged nature of abstractiomsm
which  enabled  identification  with
trystically-ofented schools.

Which one of the following, according to the

author, is the tnost important reason for the

galling of abstractionistn’s progress in an
itrpasse?

a Some artists  have followed  their
ghstractionist logic to the point of
extinction

b, Some attists have allowed chanee or
pattern to dotninate the execution of their
paintings.

c. Mlaty artists have avoided the trap of a
tiear-genetic and an open symbolist

d. Many attists havwe found it difficult to fuse
the twin principles of the metaphyaical and
the painterly.

PASSAGE -III
Ity a modern coroputer, electronic andenaonetic storage
techninlogies play complemnentaty roles Electronic
toetmoty chips are fast but wolatile(thedr contents are
lost when the computer is wipluggedy™iagnetic tapes
and hard digles are slower, bt have the advantage that
they are non-waolatile, so that thesfcan be used to stare
softwareand docuniEnis evenywhen the power 12 off.
It1 laboratories around thessorld, howeset, researchers
are hoping toacheve thetbest of both watlds. They are
tying to blild magnetic memory chips that could be
used i place, of today’s electronics. These magnetic
membties swoulld be nonwvolatile, but they would also
he, faster, wolld consume less power, and would be
able togstand up to hazardous emwironments more
easily. Such chips would hawve obvious applications in
ghorage cards for digital cameras and music- players,
they woild enable handheld and laptop computers to
boot up more quickdy and to operate for longer, they
would allow deddtop computers to mn faster, they
would  doubtless have rlitary and  space-faring
advartages too. But although the theory behind them
looks solid, there are trclky practical problems and
need to be overcome.
Two different approaches, based on different nagnetic
phenomena, are being pursued. The first, being
inwestigated by Gary Prire and his colleagues at the
Maval Fesearch Labomtory (MNEL)Y in Washington,
D.C., exploits the fact that the electrical resistance of
sotne matenals changes in the presence of magnetic
field— a phenomenon known as magneto- resistance.
For some toaltidayered matedals this effect is
patticulady  powerful and is, accordingly, called
“olart” rragneto-resistance (GWED. Since 1997, the
ezploitation of GIVE. has made cheap multi-gigabyte
tard disks commotplace. The magnetic onentations of
the mametized spots on the surface of a spinning digk
are detected by measuring the changes they induce in
the resistatnice of a tiny sensor. Thiz teclmigue is so
senaitive that it means the spots can be made amaller
and packed closer together than was previoudy
posable, thus increasing the capacity and reducing the
sizeand cost ofa disk drive
Dr. Pranz and his colleagues are now exploiting the
samne phenomenon on the surfice of memory chips,
tather spining disks. In a consertional memory chip,
gach binaty digit (hit) of data is represented using a




capacitor-reservoir of electrical charge that iz either
etrpty or fill -to represent & zeto or a one In the
HEL’ s tragnetic design, by contrast, each bit is stored
if1a magnetic elemnent in the form of'a vertical pillar of
tragnetizable rraterial. A matis of wires passing
ahowve and below the elements allows each to be
tragnetized, either clockssise or anti-clockssize, to
tepresert zero or one Another set of wires allowes
curent to pass through any particular eletnent. By
treasuing an elemert’s resistance you can detertrine
its tnagnetic otientation, and hence whether it iz
stofing a zero or a one Since the elements retain their
tragnetic orientation even when the power 12 off, the
result iz non-walatile memory. Unlike the elements of
an electronic memory, a tragnetic memnoty s elements
are nat easly distupted by mdiation. And compared
with electronic memones, whose capacitors need
constant topping up, magnetic memories are simpler
and consume less power. The MEL researchers plan to
corrmercialise their device through a company called
Mon-Wolatile Flectronics, which recently began worlk
on the necessary processing and  fBbrication
techniques. But it will be some wears before the first
chips roll offthe production line.

Ilozt attention inthe field in focuzed on an alternative
approach based on magnetic tunneljunctions (MWTJs),
wiich are being investigated by researchers at
chipmalkers such as [BLI, Motorola, Hiemens and
Hewdett-Paclard, IBIW s research team, led by Stuart
Parldn, has already created a 500-element worlang
prototype that operates at 20 times the speed of
convertional memory chips and consumes 1%w@fithe
power. Fach element consists of a sandwach ofstwo
lasrers of magnetizable material separated by a bamisr
of aluminium oxde just four or five atems thick “The
polarisation of lower trametizable lager is fizedin one
direction, but that of the upper layer can be $et (again,
by pasang a curent through a matkis of dontrol wires)
either tothe left or to the nght, to stofesd zero or a one.
The polatizations of the twolayersare then either the
sarne of opposite drections

Although the alurmfnm -t detbamier is an glectrical
insulator, it 15 so thin that electrons are able to jungp
across it waCagguantum-rnecharical effect called
tunnelling 4t tuths oub that such tannelling is easier
when the tamw riagnetic layers are polarised in the satme
directiohy than when they are polansed in opposite
directiofis. 30y by measunng the currert that fows
throughythe sandwich, it is possible to detenmine the
alignment of the toprnost layer, and hence whether it 12
stofifiga Tero or a one.

To tuild a fill-zcale metnoty chip based on WMTIs iz,
howevet, no easy rmatter. According to Faulo Freitas,
an expert on chip mamifactuning at the Techrical
Uriversity of Lishon, magnetic memory eletnents wall
tave to becotne far smaller and more reliable than
current prototypes if they are to compete wath
electronic memory. At the same time, they will have to
be senstive enough to respond when the approprate

wites in the control matnzx are switched on, but not o
sensitive that they respond when a neighbouring
glements is changed Despite these difficulties, the
general consensus is that BT Ts are the more promising
ideas Dr. Patkin says his group evaluated the GLE
approach and decided not to pursue it, despite the fact
that B pioneered GME in bard digks Dr Prine,
howrever, contends that his plan will eventually offer
tighet storage densities and lower production costs.
Mot content with shaldng up the smodti-billion-dollar
tratket for cotrputer memoty, sone researchershave
even tore atrbiti ous plans for magnetic eitguting Jn
a paper published last month in Sdence, “Russell
Cowbirn and Wark Well and of Cambndge U niversity
outlined research that could faitn the bazis of a
tragnetic microprocessor — a0, chip ) capable of
manipulating (rather than rderely stofifis) information
magnetically, Inplace of conducting wires, a magnetic
mrocessor would have rows offmagnetic dots, each of
which could be palasised in one of two directions.
Individual hits of infdnmation would travel down the
rows as magneticpulses, clanging the orientation of
the dotz as(they went. Dr. Cowhbum and Dr. Welland
tave demonstrated how a logic gate (the basic element
of a gucroproceszor) could works in such a scheme. In
their exferiment, they fed a signal in at one end of the
phain of dotz and uszed a second signal to control
whither it propagated along the chain,

Ihiz, @dmittedly, a long way fiom a dngle logic gateto
a fill microprocessor, but this was true also when the
tratzistor was first invented. D Cowbarn, who i3 now
searching for backers to help commercialize the
technology, says he believes it will beat least ten vears
before the first nagnetic ndcroprocessor s
constructed. But other researchers in the field agree
that such a chip, is the nest logical step. Dr. Pring says
that once tragnetic memory is sorted ot “the target is
to go after the logic crouits”™ Whether all-mametic
cotrputers will ever be able to compete with other
cottenders that are jostling to knock electronics off its
perch — such as optical, bWological and quantumn
cotrputing — retrains to be seen. Dr. Cowbum
suggests that the future lies wath hybnd machines that
use different technologies But computing  with
tragnetism ewdently has an attraction all its owm.

17. In developing magnetic memory chips to
teplace the electronic ones, two alterrative
tesearch paths are being pursued. These are
approaches based o
a. wolatile and non-walatile mermories,

b, magnetoresistance and magnetic tunnel-
junictions.

c. radiation-disnption and radiation-neutral
effects.

d. orientation of tragnetized spots on the
surface of a spinning disk and alignment
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of magnetic dots on the suface of a
cotrrentional memory chip.

A hinary digit or bit 15 represented in the

tnagneto-resistatice based rmagnetic chip uang:

a. alayer ofalumirdum oxide.

h. a capacitor

c. avertical pillar of tnagneti sed raterial.

d. amatns of wires.

In the rmagnetic tunnelqunctions (WTIs)

turnellingis easier when:

a. two tragnetic layers are polatised in the
satne direction.

h. two tragnetic layers are polatized in the
opposite drections.

c. two aluminum-cade  bartiers  are
polarized in the same direction.

d two alumirum-czide  barters are
polarizsed in opposite directions.

A major barrier on the way totuild a fill-scale

memory chip tased on MTIs is

a. the low sensitiwvity of the mametic
memory elements,

. the thickmess of aluminiwm o0z de bamriers.

c. the need to develop more reliable and far
srmaller magnetic memory chips.

d. all of the above.

In the WITJz approach, it iz possible to identi f7

whether the topmost layer of the magnetised

memory element 15 storing a zero or one by

a. measuing an element’s resstance and
thus detenmining its magnetic orientation.

b, measuning the degree of disnptiongdaized
by radiation in the elements (offthe
mAagnetic memory.

c. magnetising the elements either clockoaze
or arti- clockowise.

d. measuing the cument that fows through
the zandwach.

A line of ressarch swhich 12%ming to build a

ragnetic chip  thab cagy both store and

tnanipulate infortriation, 1s being porsued by

a. Paul Fréitas

b Stuart Fadan

c. GdipRrire

d._anonsoftheabove.

Experithetital ressarch currently  underway,

ueing rows of magnetic dots, each of which

pould be polarised in one of the two directions,

tias led to the demonstration of

a. working of a ricroprocessor

b, wotkdng ofalogic gate

c. wotldng of a magnetoresistance based
chip

d. wotldng of a magneto nnelling-junction
(BITT baszed chip

From the passage, which of the following

carmot be inferred?

a. FElectronic memory chips are faster and
non-volatile.

b, Electronic  and  magnetic storage
technologies play a complementary tole.

c. WTIs are the more promising  idea,
compared  to  the mameto-resstance
approach.

d. Mon-wolatile Electronics iz the comparsy
set up to commtnercialise the GWE. chips.

PASSAGE IV
The story begins as the European ploneers crogsed the
Alleghenies and started to settle in the MWidévesty The
land they found was covered with firests Wiih
icredible efforts they felled the tregs, pulled the
sturrps and planted their crops in thewich, boatny soil.
When they finally reached the festerfedge of the
place we now call Indiana,_theforest) stopped and
ghead lay a thousand milesof the gréat grass pratrie
The Europeans were puzzled by this new environment.
sotne even called it the “GreatDeset” It seetned
untillable. The eathSms offen very wet and it was
covered with cenfirie® ofitangled and matted grasses.
With their castyirofnplosis, the settlers fmnd that the
praitie so0d @odd net be cut and the wet sarth stuck to
their plosarshares. Bwen a team of the best oxen bogged
downd aftena few wears of tugging. The iron plow was
amselegs
tool to Bl the praine soil. The pioneers were stymied
forjoearly two decades Ther western march was
tiefted and they filled in the eastem regions of the
Ivlidwest.
In 15837, a hlacksmith in the town of Grand Detour,
Minniz, irwrerted a newtool. His name was John Deere
and the tool was a plow made of steel. It was sham
enough to cut through matted grsses and smooth
enough to cast off the mud. It was a simple too, the
“zod buster”™ that opened the great praines to
agrncultural dewvelopment.
dauls Country, Wisconsin is the part of that praine
where | hawe a home It is named after the Sauk
Indians. In i673 Father MMarquette was the first
European to lay his eyes upon their land. He found a
village laid out in regular patterns on a plain beside the
Wisconsin Fiver. He called the place Praire du Sac.
The village was surrounded by fields that had provided
traize, beans and squash for the Sauk people for
genetations reaching back into the unrecorded time.
When the European settlers amived at the Sauk praine
in 1837, the government forced the native Sank people
west of the Mississippl River. The setilers catne with
Johti Dreere’s new invention and used the tool to open
the area to a new kind of agiculture, They ignored the
traditional ways of the Sanlk Indians and used their
sod-busting tool for planting wheat, Initially, the soil
was generous and the matunng thrived. Howeser sach
vear the soil lost mote of its nurturing power. It was
oty thitty years after the Furopeans arnwed with their
new technology that the land was depleted, Wheat
farming becatne wneconotric and tens of thousands of




farmers left Wisconsin seelang new land with sod to
bust.

It took the Europeans and their new technology just
otie generation to rake their homeland into a desert.
The Gank: Indians who knesw how to sustain themselves
oty the Sauk praitie land were banished to another kind
of desert called a reserwation. And they ewen forgot
abot the technigques and tools that had sustained them
on the praine for generations unrecorded. And that is
how it was that three desetts were created —
Wizconsin, the teservation and the memories of a
people. A century later, the land of the Saults is now
populated by the children of a second wave of
Furopean tanners who learned to replenich the soil
through the regenerative powers of dattying, ground
cover crops and amimal manuares These third and
fourth genemtion farmers and townspeople do nat
realize, however, that a new settler i1s coming soon
with an invention as powerful as John Dreere’s plowe,
The new technology iz called  ‘bereavemert
counselling’. It iz a tool forged at the great state
universty, an innovative technique to meet the needs
of thoze experiencing the death of a loved one, toal
that an “procesd” the grief of the people who now live
o the Prairie of the Sauk. As one can imagine the
final days of the willage of the Saul Indians before the
arrival of the settlers with John Dreere’ s plow, one can
alzo imragine these final days before the arrwal of the
first bereavement counsellor at Prainie du Sac. In these
final days, the farmers arid the towmspeople mourn af
the death of a mother, brother, son or fiend. The
bereaved is joined by neighbours and kin. They meet
arief together in lamentation, prayer and song. Thew
call upon the words of the clergy and swround
thermselvesin compmunity.

It iz in these ways that they griewe and then \go of with
life. Through their mowning theg are dssured of the
bonds between them and reneweddn the knowledge
that this deathis a part of the Praine'afthe Sauk Their
grief is corgnon property, athanmush from which the
comnunity draws stretigifvand mves the bereaved the
courage to move ahdad

It isinto this pradrie coffwounity that the bereawetnent
counsellor arnesgatth the new grief technology. The
counsellorealls the ifwention a setvice and assures the
prairie folls ofits effectiveness and supenority by
irwoldim, the name of the great university while
digplaying awdiplotra and certificate. At fret, we can
itragitie that the local people will be puzzled by the
beteavernent  counsellor’s  claim,  Howewer,  the
counsellor will tell a few of them that the new
techrigque iz merely o assist the bereaved' s cotrrnunity
at the time of death. To some other praitie folk who
are isolated or forgotten, the counsellor will approach
the Countty Board and adwvocate the tight to treatiment
for these unfortunate sods. This fght will be
guatantesd by the Board’s decision to reimburse thase
too poor to pay for counselling services. There will be
others, schooled to beliewe in the innowative new tools

cettified by universiies and medical centres, v&m wﬂl
seek out the bereaverment counsellor by f'u:urc:e of hahit.
And one ofthese people wall tell a bereaved neighbour
who iz unschooled that urless his griefis processed by
a counsellor, he will probably  have toajor
paychological probletns in later life. Several people
will begin to use the hereavernert counsellor because,
dnice the Countty Board now tases themn to insute
access to the technology, they will feel that to fail to be
counselled iz to waste their money, and to be denied a
henefit, or ewen a nght.

Finally, one day, the aged father ofa SaulSetman wall
de And the next door neighbour will not deop by
hecause he doesn’t want to intemipisthe Herea vement
coungellor. The woman’s kin will stay home because
they will have learned that only the ‘hereavement
counsellor kmowe how to process griefthe proper way.
The local dergy wall seelk technical assistance from the
bereavement counsellor to leatiwthe connect fonm of
service to deal with"guilt and grief And the grieving
daughter wall Mnow® that 1t iz the bereawvement
counzellor whaeyreally cares for her becauze only the
bereavement counsellor comes when death wisits this
farmily on thePraine of the Bauk

It wall “he oy one generation bebween the
berexvefnent Gounzellor armves and the community of
tnournets dizappears. The counsellor’s new tool wall
cubythrough the social fabric, throwing aside lanship,
gare, neighbourly obligations and comumnality ways
cotoming together and going on. Lilee John Deere’s
plow, the tools of bereavement counselling will create
a desert we a corumnity once floushed, And fnally,
even the bereaverment counsellor will szee  the
irnposability of restoring hope in clients once they are
geriinely alone with nothing but a service for
cotsolation. In the inewitahle failure of the serwice, the
bereavemnent counsellor will find the deserts even in
herzelf.

25, Which one of the following best describes the
approach of the autho?

a. Cotnparing expmmu:es with  two
intiovations tried, in order to illustrate the
failure of hoth,

b, Presenting comrounity perspectives on two
technologies which hawe had negative
effects on people.

c. Usng the negative outcomes of one
intiovation to dlustrate the lilely outcomes
of another inhovation.

d. Contrasting two contexts separated in
titne, to illustrate how “deserts”  hawve

arigen.
26. According to the passage, hereavement
handling traditionally inwolves:

a. the community bereavermnent counsellors
worlang with the bereavred to help himdher
overcome grief
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b, the neighbours and kin joimdng  the
bereaved and meeting gref together in
mmourting and prayer.

c. using techmiques developed systernatically
i forrnal institutions of learning, a ttained
counsellor helping the bereaved cope with
arief

d. the 3Sauk Indian Chief leading the
cotrnunity with rituals and rites to help
lezsen the gnef of the bereaved

Due to which of the fllowing reasons,

according to the awthor, will the bereawvernent

counizellor find the deserts even in hersel ¥

a. Owera period of time, worldng with Sauk
Indianz who ave lost their linship and
relationships, she hecomes one of thern,

b, She is wordng in an environment where
the disappearance of comumunty mowmers
males her work place a social desert.

c. her efforts at gnef processng with the
bereaved will fail as no amount of
profesdonal serwice can make up for the
lozz due to the disappearance of
COomurmty mourners,

d. 5he has been working with people who
have setfled for a long time in the Great
Dezert

According to the author, the bereavement

counsellor is:

a. a fnend of the bereaved helping him or hef
handle grief

b, an adwvocate of the nght to treatmentifor
the comrminity.

c. a kin of the bereawed helpifig higuher
handle grief

d a formaly trained petson helping the
bereaved hande gref

The Pririe. was a great pizzlenent for the

European pioneers because:

a. it was covered with thicl, untellable layers
of grass over Swash stretch,

b, it was dilarge desert immediately nest to
lush forgsts.

c. it WAs nch cultivable land left fallow for
certiries

d. Vit cild be easily tilled with iron plu:uws

Which of the following does the “desert’ in the

pas=ge refer to?

g Prairie scoil depleted by coltivation of
wheat.

b, Feservations in which natisve hdians wete
resettled.

c. Ahsence of, and empliness i, cotmunity
kinship and relationships.

d. All ofthe abowe.

According to the author, people will hegin to

utilize the service of the bereavement

counzellor because:

a.  new Countty regulations will make them
feel it is a tight, and if they don™t useit, it
would bealoss.

b, the bereaved in the cormrunity would find
het a helpfil fiend.

c. she wall fight for subsstence allowance
from the Countty Board for the poor
arnong the bereaved

d. grief processing needs todls certified by
universities and medical centres.

32 Which of the following parallels befwresn the
plowe and bereavermnent counsellifig iz “thot
claimed by the authat?

a. Both are innovative technelogies

b. Both  result in  fmgmEtien “of  the
cotmities into_which the innovations
are introduced

c. DBoth lead to “deserts’ in the space of only
one generation

d. Both aréntods dotroduced by outsiders
entering g sting corumunities.

PASSAGE -V
The teaching atnd tmnswdssion of MNorth Indian
classical grmsc 15, and long has been, achieved by
lapgelyforal treans. The raga and its stnacture, the often
Breathtalbisds intricacies of tale, or thythin, and the
incarnation of raga and tala as bandish or cotrpostion,
are passed thus, between gut and shishya by word of
tnauth and direct demonstration, with no printed sheet
of notated musc, as it were, acting as a go-between.
saussure’s conception of language as a cotmtmuni cation
hetween addresser and addressee iz given, in this
model, a further instance, and a new exotic
cormplexity and gdamour,
These days, especially with the middle class having
entered the domain of classical music and playing not
a small part ensuring the continuation of this ancient
tradition, the tape recorder serves as a handy
technological dave and preserves, fom oblivion, the
van shing, elusive moment of oral tranamission. Hoary
guruz, too, have seen the advantage of thiz device, and
increasingly use it as an aid to instructing their pupils,
i1 place of the shawls and other traditional objects that
uzed to pass fom shishya to gum in the past, as a
tolzen of the regard of the fonmer for the latter, it is not
unustal, today, to see cassettes changing hands,
Part of my education in Morth Indian classical music
was conducted wia this mther ugly but beneficial
rectangle of plastic, which [ camied with me to
England when [ was a undergraduate. Once cassetie
tad stored in it warious talas played vpon the tabla, at
vatious tetmpos, by my rmsic teacher’ s trother-in law,
Hazarilalii, who was a teacher of Kathale dance, as
well as a singer and a tabla player. This was a work of
great patience and prescience, a one-and-a-half hour
petformance without my tnmediate point or patpose,
tt intended for some delayed fubure moment who I'd
practize thetalas solitanly.




Thiz repeated playing owr of the thythmic cycles on the
tabla was inflected by the noises-an hate auto driver
hlowiang a horn; the sound bf overbeating pigeons that
were sucha misance on the bandster; even the oy ofa
laifl seller in sutriner —entering frorn the balcoty of
the third foot fat we occupied in those days, in a lane
i1 a Botnbay suburh, before we left the city for good.
These sounds, in tum, would invade, hesitantly, the
ghb and flow of slence inside the artificially heated
tootr, ina horough of West Londor, inwhich T used to
live as an undergraduate. There, in the tapped dust,
silence and heat, the thela ofthe tatla, qualified by the
imrminent but intermittert presence of the Bombay
subrub, would cotne to life again & few years later,
the tahla and, in the background, the pigeons and the
itinerant loulfi seller, would inhabit a amall graduate
roomm in Oxford.

The tape recorder, though, remains an extension of the
oral transmission of music, mther than a replacemert
of it. And the oml transmission of MNoth Indian
clazsical music remaing, almost unigquely, testament to
the fact that the unan brain can absorh, remember
and reproduces structires of great complexty and
sophistication without the help of the hieroglyph or
written marks or a system of notation. [ remember my
smprise on discovering the Hazanlalji- who had
rrastered Kathal: dance, tala and Morth ndian cassical
mmusic, and who used to mamate to me, occasionally,
compositions meant for dance that were grant and
intricate in their verbal prosody, architecture and
thythnic complexity- was near dlustrate and had
barely leamt to write his name in large and clunsg
letters.

Of course, attenpts hawve been made dhsoushout the
20th century, to formally codify and even fotate this
trsic, and institutions set up afid degress created,
specifically to educate students inthis “s@entific” and
codified manner. Paradosx cally, howeser, this style of
teaching has produced no) noteworthy student or
performer; the tmost credtisre rsicians still emerge
from the guru-shi shita relationship, their understanding
of remsic developedibey ofal Bornrourd cation.

The fact that Blagh Indan classical msic emanates
from, and has evolvedibrough, ol culture, means that
thiz rousic hasSa significantly different aesthetic, aw
ttat tHisaesthetic has a different politics, from that of
Westerny classical mmsic. A piece of mwmsic in the
Westesmitadition, at least in its most characteristic and
popular conception, onginates in its cotrposer, and the
contiection between the two, between composer and
the piece of trmaic, iz relatively unambiguous precisely
because the composer writes dowm, in notation, his
cotrposition, as a poet might write down and publish
Wiz poetn. Howewer far the pranted sheet of notated
triasic might travel thus fom the cornposer, it still
temaing ks property; and the notion of property
remains at the heart of the Western conception of

Hoerius”, which derives fom the Latin gignere or “to
heget”.

The genius in Western classical music is, then, the
origitator, begetter and owner of his works the printed,
notated sheet testifing to his awthority ower his
product and his power, not only of expression o
tnaginatioty, but of ofigination The conductor iz a
custodian and guardian of this property. IS it an
accident that Mandelstarn, in his notebooks, compates
— celebratoily—the  conductor’s  bhaton to a
policetnan’ s, saying all the tmsic of the orcliestia lies
trnate withit it, waiting for its first moverngdd bo reledse
it irto the auditorium?

The raga — tranamitted through oralgneatis, — 15, ina
sense, no one’ s propetty; it iz notfeasy Wpitrdowm its
source, of to know exactly wherg its piovenance or
origin lies. Unlilce the Western cla@ggical tradition,
where the cormposer begets\lis piece, nofates it and
starmps it with his owmership“and remains, in effect,
larger than, or thesfEther of, his work, in the MNorth
India classical traditign, the raga — unconfined to a
singl e incarnatien, Commoser or performer — remains
necessanly(greater than the artiste who involes it

This leads toha very different politics of interpretation
and dralugbion, 1o an aesthetic that privileges the
eganescent \midment of performance and invocation
wrer the #ontrolling authonty of genus and the
petimanent record. It iz a tradition, thus, that would
appeat to value the performer, as medium, more highly
thati the composer who preswmes to originate what,
effectively, cannot be onginated in a single person —
because the ragais the inhentance ofa culture,

33 The author’s contention that the notion of
property lies at the heart of the Westem
conception of gerius is best indicated by
which one of the foll owing?

a. The creative output of a gemus is
itrvariably wiitten down and recorded,

b, The link bebtween the creator and lus
output 15 urarnbiguous,

c.  The word “geniug” is derived from a Latin
word which means “to beget”.

d.  The music corposer notates his rasicand
thus becomes the “father™ of a particular
piece of rousic.

. caussure’s conception of language as a
corgrmrdcation between  addresser and
addressee, according  to  the auwthor, is
exzernplified by the:

a. teaching of Moth Indian classical music
by word  of mouth  and  direct
dernotistration.

b, use of the recorded cassette az a
tranamission mediin between the mosic
teacher and the trainee.

c. written down noftation sheets of muscal
compositions.

d. conductor’ s baton and the orchestra.
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The author holds that the “rather ugly bt
heneficial rectange of plastic™ has proved to
hea “hand technological dawve™ in:

a. storing the tala played upon the tabla, at
various tetnpos.

b, ensuning the contitmance of an ancient
tradition.

c. transporting Motth Indian classical musc
actoss geographical horders.

d. capturing the transient tmotment of oml
tratiarnd ssiof.

The otal transmizsdon of North dian cassical

trusicis analmost umgque testament of the:

a. efficacy ofthe gutu-shishya tradition.

h. learningimpact of direct detnonstration.

c. brain’s ahility to reproduce commplex
structures without the help of written
marls.

d. the ability of an illiterate person to narmate
grand and intricate musical compositions.

According to the passage, in the Morth Indian

clazsical tradition, the raga remains greater

than the artiste who irroles it This inplies an
aesthetic which:

a. emphasises perfonmance and inwvocation
over the authority of genius and permanert
record.

. mmakes the music no one’s property.

c.  walues the composer more highly than the
performer.

d. supports oml transmission of traditional
frsEc.

From the author's explanation of the netion

that in the Western tradition, mua® originates

in its composzer, which one ofsthe following
cannot be inferred?

a. It is easy to transferfa piece of Western
clazsical msic to a distafit place,

b, The conductor i the Westetn tradition, as
a custodian, cantnodifiz the music, since it
lies mute” i hig baton.

c. The authorts ofthe Western classical
trlEic shrnplsss over his tmusic product is
uriatrib mos.

d._aThepower of the Westem classical music
cotfiposer extends to the expression of his
s,

Accapding to the author, the madequacy of

teaching Morth Indian classical nmsic through

a codified, notation based system iz best

illustrated by

a. aloss of the stuctural beauty of the ragas.

b, a fusion of two opposing approaches
creating trndane rusi e,

c. the conversion of free-flowing ragas into
stilted set pieces.

d. its filure to produce any noteworthy
student or perfonmer.

40.

Which of the following statermnerts best

cotey s the owerall idea of the passage?

a. Morth Indian and Western classical music
are structurally different

b, Woestem trmsic is the intellectual propetty
of the genius while the Morth Indian raga
iz theinheritance of a culture,

c. Creation as well as performance are
itnpottant in the MNotth hdian classical
tradition.

d. Motth Indian classical music A5 “arally
transmitted while Western cladsieal mugic
depends on written down ndtations:

Direcions for Q. 41 to 45 Sedlence givew in esach
question, when propetly sequenced, from a coherent
maragraph. The first and last(sentences@re 1 and 4, and
the four in between are labdled & B, C and D Choose
the most logical order of these® four sentences for
among the four gwefychoices to construct a coherent
maragraph from séntentes d tod

41.

42

centence Jgiven in each question, when

properly sequenced, from  a  coherent

paragaph. The first and last zentences are 1

atyd 6, and the four in between are labelled &,

B, Cand . Choose the most logical onder of

theze four sentences for among the four gven

choices to construct a coherent parmgraph from

sentences 1 to 6

1. Becurity inks exploit the same principle
that causes the wiwid and constantly
changing colours ofa film of oil on water,

A, When two rays of light meet each other
after being reflected from these different
surfaces, they have each trmvelled dightly
different distances.

B. The key iz that the light iz bouncing off
two surfaces, that of the ol and that of the
water layer below it

C. The distance the two rays trawve
determines which wawelengths, and hence
colours, interfere constructively and lock
bright.

D Because light is an electromagnetic wave,
the pealks and troughs of each my then
interfere either constructively, to appear
bright, or destructively, to appear dim.

. Since the distance the mys travel changes

with the ande as you look at the surface,

different colours look bright from different
viewing angles.

ABCD

BADC

BDAC

. DCAR

sentence given in each question, when

properly  sequenced, from a  coherent

/oo
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patagraph. The first and last sentences are 1

and 6, and the four in hetween are labelled &,

B, Cand I Choose the tnost logical order of

these four sentences for among the four given

choices to construct a coherent paragraph fom

sentences 1to 6.

1. Comnercially reared  chicken can be
urusually agoressive, and are often kept in
darlzened sheds to presrent them peckingat
each other

A The birds spent far tnore of their time—up
to a third — pecking at the inanitvate
ohjects in the pens, in contrast to birds in
other pens wiich spend a lot of time
attacling others.

B. In low light conditions, they belawe less
belligerertly, but are more prone o
ophthalmic  disorders and  respiratory
problem

C. Inanexpenment, aggressive head-peclking
was all but eliminated among birds in the
enriched envirommernt

[ Altering the hirds” ensironment, by adding
bales of wood-shawings to their pens, can
worls wonders.

6. Bales could dininish aggressiveness and
reduce injuries; they might even improve
productivity, snce a happy chicken is a
productive chicken.

a. DCAB
h, COBA
c. DBAC
d BDCA

semtence given in each quesfion, Gwhen

properly  sequenced,  fromeesa coherent

patagraph. The first and last sentefices are 1

atid 6, and the four in hetéreen dre 1ahelled &,

B, Cand [ Choose the taoét logcal order of

these four sentences for amofigihe four given

choices to construct @ cohesent paragraph fom
sentences 1to &

1. The cofeept of a “mation-state’ asaunes a
cotrplete  comespondence  between  the
boidaries  of the nation and  the
boundaties of those who live in a specific
state

¥, Then there are members of natioral
collectivities who live in other countries,
tnaking a mockery of the concept.

B. There are always people living in
patticular states who ate not considered to
be (and often do not consider themselves
to be) mernbers of the hegemonic nation

. Ewen worse, there are nations which newer
had a state for which are divided across
seweral states.

D This, of course, has been subject to severe
criticism and is wirtually everywhere a
fiction.

45,

f. Howewer, the fiction has heen, and
cotitities to he, at the basizs of nationalist
ideologies.

DRAC

ABCD

BACD

. DACE

certerice  given in each  gquestion, when

propetly  sequenced,  fomm oa coherent

patagraph. The first and last sentences are |

atid A, and the four in betvween are ldhelled A,

B, CandD. Choosethe tnost logieal, orderaf

these four sentences for amongthe fouk gven

choices to constract a coherent paragraph from

sentences 1 to 6

1. In the sdences, “&ven | questionable
examples of rggearch §aWd are harshly
pumi shed.

A, But no mch mechdmsm exsts in the
hmanities, — much of what hmanities
reseafther® call research does not lead to
reaaltsthat) are replicable by other
scholars.

B. ‘Given/the importance of interpretation in
historical  and  literary scholarship,
hiirnanities researchers are in a postion
where they can explain away deliberate
and even sy stematic distortion.

C. hlere suspicion is enough for funding to
be ot off, publicity guarantees that
careers can be effectively ended.

[, Forgeries which takze the form of pastiches
in which the forger intersperses fake and
real parts can be defended as mere
rmistalces or abermant niareading,

6. Sclentists fudging data have no such

defences.

BDCA

ABDC

CABD

. CCBA

mentenice  given in each  gquestion, when

propetly  sequenced,  fom  a  coherent

patagraph. The first and last sentences are |

atd A, and the four in between are labelled A,

B, Cand . Choose the tnost logical order of

these four sentences for among the four gven

choices to constract a coherent paragraph from

sentences 1 to 6.

1. Hotses and comtmism were, on the
whole, a poot match.

& Fine horses hespole the notility the patty
was spposed to despise.

B. Fine horses hespole the nobility the patty
was spposed to despise.

. Although a worlding horse was just about
tolerable, the conmunists were night to be
WAy

o oW

=M=l




D Peasants fom Poland to the Hunganan
Pustza preferred their horses to pariy
dogma.

§. "A farrner’s pride 1z Ws horse, his cow

tnay be thin but his horse st be fat”

went a Slovak saying.

ACBD

DBECA

ABCD

DCBA

oo ow

Directions for (. 46 to 50 In each of the following
sentences, patts ofthe sentence are lef blank Beneath
gach sentence, four different ways of completing the
sentence are indicated. Choose the best alternative
from atnong the four.

4a.

47

43

49,

50,

Though one eye is kept firmly on the

the Though one eye iz lkept finnly on the
Cotternporay att.

present, ezperimental

fiture, popular

present, popular

d. market, popular

The law prolibits a person fom felling a

sandalwood tree, even if it grows on one's

own land, without prior permission fom the

goverrument. As poor people cammot deal with

the govermment, this legal provizion leadsto 8

np-roaring busness for . Who carg

neither for the , tior for the tress.

a.  riddlemen, rich

b, the government, poor

c. touts, rich

d. touts, poot

It will take some rime fordraty South Koreans

CERES N

to the conflictingfimage: of North
Korea, let what to mmake of thertiorthem alone
to cousins.

a. reconcile, decide

b, understdhd, clanfy

c. tmake out, decide

d. refoficilejunderstand

Ihaqthese Wleak: and depressing  titmes
of prices, non-petforming
goveiments and crime rates, Souav
Gatimily has given us, Indians, a lot to cheer
about.

a. escalating, increasing
b spiralling, hootnitng

c.  spiralling, soatng

d. ascending, debilitating
The manners and

tiche iza recutrent

a.  style, motif

h. morals, story

C. wealth, theme

d. tnorals, theme

of the nouwean
in literatire.

Direc tions for Q. 51 to 55: The, sentences given in
gach question, when propetly sequenced, fonm a
coherent paragraph. Each sentence is labelled wath a
letter. Choose the most logical order of sentences from
arnong the four gven choices to consttuct a coherent

paragraph.

51

54

The, sentences given in each question, when
propetly  sequenced,  fortn & coherent
patagraph. Each sentence iz labelléd with a
letter. Choose the most logicdlorderaf
sentences fomn among the foufygiverr ehoices
to construct a coherent paragraph.

A If caught in the act, ghey wWere funished,
ot for the coime Obut for allowing
thernselves to bg caught.

B. The bellicose Spartang sacrificed all the
firer things in life fapdrilitary expertize.

C. Thosefastmate enough to  survive
babyhooddwere talken away from their
mathers at the age of sewven to undergo
rigorous molitary training,

L. This eonsisted neinly of beatings and
deprivations of all kinds like going around
barefoot in winter, and worse, starvation
20 that they would be forced to steal food
to surdive.

E. Mlale cluldren were exarmined at bath by

the city council and thoze deemed too

wealks to become soldiers wereleft to die of

EXpOSIrE.

BECDA

ECADB

BCDAE

ECDAR

The sentences given in each gquestion, when

propetly  sequenced,  fortn & coherent

paragraph. Each sentence is labelled with a

letter, Choose the most logical order of

sentences fotn among the four given choices
to construct a coherent paragraph,

A, Thiz  wery  insatiability  of  the
photographing eye changes the terms of
cotfinetnent in the cave, our world,

B. Humankind lngers unregenerately  in
Flato’s cave, still reselling, itz age-old
hahit, in rmere images of truth.

C. But being educated by photographs iz not
like being educated by older images drawn
by hand; for one thing, there are a great
trany mote itmages around, caiming our
attention

D The imrentory started in 1339 and since
then just about ewerything has bheen
photographed, or so it seetmns.

E. In teaching us a new wisual code,
photographs alter and enlarge our notions

oo




53

of what 1z worth looking at and what we

hawe aright to observe.

EABCD

BDEAC

BCDAE

. ECDAB

The, sentetices given in each gquestion, when

propetly  sequenced,  form a coherert

patagraph. Fach sentence iz labelled with a

letter. Choose the tost logical order of

sentences frotn arnong the four given choices
to constriuct a coherent paragraph.

A To be cultually literate 15 to possess the
bazic infortration needed to thive in the
modern wotld.

B. Morizsit confined to one sodal class, quite
the contrary.

C. It is by no means confined to “culture”
narrowly understood as an acquaintance
with the arts.

D Cultural literacy constitutes the only sure
aveme of opportunity for disadwantaged
children, the only reliable way of
corrbating the social defermirmism that
now condetrms them.

E. The breadth of that information 1s great,
extending over the major domaing of
human activity from sports to science.

mo oW

a. AECBED
h. DECBA
c. ACBED
d DBCAE

The, sentences given in each question, wheg
properly  sequenced,  form Al coberent
paragraph. Fach sentence is labelled wath a
letter. Choose the tost logical | \order of
sentences from arong thé fourgiven choices
to construct a coherent paragfaph

A, Both parties uze capital“@nd labour in the
sttugale to secure property rights,

B. The thief spehdstime and money in his
atternptdo, steal (hebuys wire cutters) and
the legitirrebe \propetty owner expends
refolinces to prevent the theft the buys
locks)

COA Sacial cost of theft 15 that both the thief
and the potential wictimm use resources to
@ain of mamtain control over property.

[0 These costs may escalate as a type of
technological arms race unfolds.

E A bank ray purchase more and mote

cotrplicated  and  soplisticated  safes,

forcing safecrackers to inwest further in
safecracling equiptnent.

ABCDE

CABDE

ACBED

CBEDA

a0 o

55

The, sentences given in each question, when
propetly  sequenced,  fortn & coherent
paragraph. Each sentence is labelled with a
letter. Choose the most logical order of
sentences fotn arnong the four given choices
to consttuct a coherent paragraph.

A The likelihood of an  accident ig
determitied by how carefully the motonist
drives and how carefully the pedesttian
crozzes the street.

B. An accidert irwolving a motodst EGnd a
pedestrianis such a case.

C. Each mugt decide how 4uuch “gare to
exercise withot knowing howhcareful the
other iz,

D The samplest strategic problem  arises
when two indigfiduals intefact with each
other, and each st

E. decide what to doSmithout lmowing what

the cthefig,doing

ABCD

ABCH

DBCA

DBAC

oo om

SECTION-II

Hirections for (1 56 fo 72 Answer each of the
questions independently.

56.

55,

50.

Let D be recurring decitral of the form, D =0.
a) ap a1 ag ap ag, where digits al and a2 lie
between 0 and 9. Further, at most one of them
is zeto. Then which of the following nurrbers
necessatily  produces an  integer, when

trmltiplied by DY
a 13

b, 108

c. 198

d. 288

x| 1 2134|546
4 15 |14 22|32 |44

In the abowe table, for suitably chosen
cotstants a, b oand c, which one of the
following best describes the relation between ¥
and =Y

a y=a+hx

b, y=a+hx+ o

C. 1le=E,:n+1:t:\\:

d. Mone of the above
Ifai=1andawn=2a,+ 5, n=112, .., then
amplis equal to;

a (5x2° -6
b, (5zF +6)
e (Axz P+ 5
d (6.5

What 15 the walue of the following espression?




fil.

fil.

il

fi3.

a5,

(LA 2200 LA DR CL A D (1A 20— 1
a. /10

b, 104189
c. 10721
d 11721

A truck travrelling at 70 ldlormetres per hour

uses 30% more diesel to tmwel a cettain

distatice than it does when it travels at the

speed of 50 ldlometres per hour. If the trnck

caty trasrel 195 ilometres ona litre of diese] at

50 klometres per hour, how far can the thick

trawel on 10 litres of diesel at a speed of 70

ldlometres per hour?

a. 130

h. 140

c. 150

d 175

Consider a sequence of seven consecutive

integers. The average of the first five integers

151 The average of all the seven integers is;

a n

b o+l

C. kxn, wherekisa functionofn

d. o+ 2T

If £ » 2 and v = -1, then which of the

following statements iz neceszarily true?

a Hyw-d

h —xz<ly

C. HEy < -l

d —x=ly

One red fag, three white flags and two blue

flags are arranged in a line such that,

A, no two adjacent flags are of the sme
colour

B. the flags at the two ends ofitheline are of
different colours.

In how many different ways gah the flags be

arranged?

a. 6

b 4

c. 10

d 2

Let 5 be the set ofittegers = such that:

1. 100 =200

2 _dzizodd

3.0 ediwable by 3but not by 7

Howinany elements does 3 contain?

a. lé

b 12
c. 11
d 13

Let =, v and = be distinct integers, that are odd
and positive. Which one of the following
staternents cannat be trae?
. xyetis odd
. (2-v)Y zis even

(Z+7v -z}z(x+§,r}is EWEL
o E-yy+ D+ y-Ziisodd

[un)

= Ry

.

fiE.

fig.

Fis

71

74

Let 3 be the set of prime rownbers greater than
ot equal to 2 and less than 100, DMultiply all
elements of 5. With how many consecutive
zeros will the product end?

a 1

b 4

coo5

d. 10

What iz the nurmher of distinet ttiangles with
ittegral walued sides and petimeter 147

a f

b 5

c. 4

d 3

Let M = 1421 = 1433 £ 1425,What iz the
remainder when M is divided by 127

o om
[ LR I B o Y |

The integers #4041 and 32506 when divided
by agthreg-digit irteger a leave the same
remjainder, Wiatis of

a 289

by 367

Co 453

d. 307

Each of the numbers 3, %, .. X n34, 15 equal
to 1 ar- 1. Suppose,

HI1Egniy + Eiil e v EGieMs L T B3l
o 1 1+ ] B B Hp + Hpo X1 Kz, themn

a niseven

b. nisodd

c. nizan odd muitiple of 3

d. nisprime

The table tbelow chows the age-wise
distibution of the population of Feposia. The
trher of people aged below 35 years 15 400
trollion.

Age-group Percentage
Below 15 years 30.0

15-24 1775
25-34 17.00
35-44 14.50
45-54 12.50
55-64 7.10
f5andabove 1.15

If the ratio of fermales to rales in the “helow
15 years” age group is 094, then what 1= the
mrnber of fernales (in millions) in that age
group?

a. 823

b B0

c. &0.0

d. 90.0

catn has forgotten his fend's seven-digt
telephone number. He remembers  the
following: the first three digts are either 435
or 674, the munber is odd, and the mumber




nine appears once. If Sam were to use a trial
and error process to reach his fhend, what is
the rmimdrun munber of trials he has to meke
hefore he can be certain to succeed?

a. 100an
b, 2430
o 3402
d. 3006

Direcions for guesions 73 to 74:

& B, Carethree munbers. Let

@A By=average of Aand B,

KA Bi=product fAand B, and

A, By =the result of dividing & by B

73 The sutn of & and B is given by

a. (@A, B),

b @A, By, D

co @EA B, 2

d. @ (XA, B), 4
T4, Average of A, B and C iz given by
@ (@B, A), ), C), 5)
- K@AER, A), 33, C), )
MA@ R, A), 2), C), 3)
AX@A@EB, A), 2), €, 3, 2)

Directions: for (). 75 fo 76: For real nurnbers x, v, 1et

oo

fix, ¥) = Positive squareroot ofix + v, iffx + v1"7 is
real

=[x + v otherwise.

oz, v =(x+ v iftz + v~ is real

=-[xZ+ v) otheraize

75 Which of the following expressions vields a
postive value for every pait.of non-zero real
tnbers (x, ¥i?

a. fix ¥ -gxw
b Rz - (afx, v
C. g(X, F} - (ﬁcxs F})z
d. fzyi+ g=57

7h. Under whichy, of the following conditions is
3, v) necessatilingeater than gz, v17

B difiszand v areless than-1

E othisz andy ate positive

B othyztand v are negative

wox

foow

Direciions for Q. 77 fo 70: Far three distinct real
mumbers x, y and 7, fet

B, v, 2y =1nm (ma_w(x, ¥, tnas (¥, 2), tas (2, 1))

g2, y, Z) = max (rin(x, ¥), tam (y, 7), o (2, X))

Bz, ¥, 2) = tnas (mas(E, ¥), ey, 2), mas (Z, 2))

i, ¥, 7y = o (o (=, ), win(y, ), tom (2, X))

iz, ¥, T =A%, ¥, )

1%, ¥, Z) = tm (%, 7, Z)

T Which of the following is necessarily greater
than 17

a. l:hl:X, Y. Z:I - ﬂ:X, ¥ Z]I:I "IIJI:X= ¥a Z]I
b j(xy, 2z, ¥, 2)
c. B v 2ol v, o
d. (E:Xs ¥. Z]I + hl:X.- ¥, Z]I __g(X= ¥, Z]I:I.I'IJI:X, ¥. Z]I )
75 Which of the fllowing expressions is
tiecessatily equal to 19
a. (t(Xr ¥ Z:I- rI'(X, ¥ Z:I:I.l"(g(K, ¥. Z:I-h(X,E.F, Z:I:I
b. (rﬂ(X, ¥, Z:I -ﬂ:X, ¥, z})'ll( gl:X, ¥, Z:I-I'J.(X, ¥, Z:I:I
C. (J(Xr ¥ Z:I _g(Xr ¥, Z:I:I ﬂj‘(xr ¥, Z:I
. (ﬁ:xr Y. Z:I-h(X, ¥, Z:I "llﬂ:xr ¥. Z:I
79 Which of the fllowing expregsions is
indetermirate?
A (fz v, zZ-hiz y, 2 gz, v —IRy. 2))
b (2 ¥, 2) + hix, 7, 2) bz, Wz) HIZ, 7,
EI'J'JEJ}(X, ¥, Z) + hiz, j 2)-miE, ¥OT) - 00z,
v, %
C. (g(xr ¥. Z:l-j(X, W Z:I:I.ﬂ:ﬁ:x, ¥ Z}-h(X, ¥. Z:I:I
d. (hixz, v, 2) fix, oz vin®, v, 2) - g ¥, 2))

Directions for (). 304031

There are five machings &, B, C, D, and E sitgated on
a straight linegat digtances of 10 metres, 20 metres, 30
metres, 40 fnetres and 50 meters respectively from the
origin of theline @& robot is stationed at the origin of
the line ~The “robot serwes the machines with @mw
material whetiewver a machine becomes idle. All the
tewr materal is located at the origin, The robotizin an
idle, state at the origin at the beginning of a day. As
goonas one or more machines become idle, they send
mezsages to the rmobot- station and the robot starts and
serves all the machines from which it received
messages. [fa message iz received at the station while
the robot 15 away fom it, the robot takes notice of the
message only when it reforns to the station. While
moving, it serves the machines in the sequence in
which they are encountered, and then returns to the
origin. If any messages are pending at the station when
it returns, it repeats the process again. Otherwase, it
remaing idle at the ongin Hll the next message () is
received,

all. suppose on a certain day, machines A and D
hawe sent the first two messages to the origin
at the beginning of the first second, and C has
sent a message at the begnning of the 5th
second and B oat the begnning of the 6th
second, and E at the beginning of the 10th
second. How rmach distance in metres has the
tobot travelled since the beginring of the day,
when it notices the message of E? Assume that
the speed of mowerment of the robot iz 10
tretres per second.

a. 140
b &0

c. 340
d. 360

al. suppose there iz a second station with mw
rraterial for the robot at the other extreme of
the line wiich iz 60 metres from the ongin,




that. 15, 10 meters fom E. After finishing the
serwices in a trip, the robot retums to the
nearest station. [f both staions are equidistant,
it chooses the orign as the station to retum to.
Aszsuming  that both stations receive the
tnessages sent by the machines and that all the
othet data retnaing the same, what would he
the answer to the showe question?

a. 120
b, 140
o 340
d 7

Direciions for guesiions 82 to §4:
Givenr below are three graphs made up of straight-line
segments showm as thick lines. In each case choose the

At1EWEL 35!
(2 iffaeifm
by iffxe -f-
(cy iy =f-z)
() if3fE) =6 -2, for 0.
81,
4
. -
g ——
a. iffiz=31
b, if fig)=-f -5
c. iffxm=1=
d. if 3f%) = 6ff =, for 20
83.
Mz}
-4 =i 1} i] 2 b-l
a. Gf fiz=31
b, if i - -2
oy, 1E ) =)
i MR = 6f =), for 0
.

Py
-

e s .
T . ! !
e e
i

S IR I A0 SO PO
a iffE=3f=x '
b, iffg=-f-2)

c. iffix=f-x)
4. if 3ffx) = Afi-x), for 0

Direciions for qucsiions 85 aml 86:

There ate three hottles of water, &, B, C, whose
capacities are 5 litres, 3 litres, and 2 litres respectively.
For ttansferring water from one bottle to another and
to demin out the hottles, there exsts a piping system.
The flow through these pipes is commputer contralled.
The cormputer that controls the flow throggh“thess
pipes can be fed with three types of instrietions as

exzplained helow,

Ihstraction type

Instruction type

FILL (%, T)

Fill hottle labelled 3 “#om the

water in hoftleslabelled V, where
the remaiting capaity of X iz less
thatn orVedqual (o the amomt of
waterin ¥

EMEPTY (%, 7)

Fripty out the water in hottle
lavelled X into bottle labelled ¥,
whete the amount of water in X is
lezz than or equal to remaining
capacity of Y.

DRATN (30)

Drmit out all the water contained in
biotfle labelled 35

Iaitiallv itz full wath water, and B and Care empty.

o,

8.

After executing a  zequence  of  three

instmactions, bottle & contains one litre of

water, The first and the third of these

instructions are shown helow,

First instruction FILL (), A)

Third instruction FILL (), A)

Then which of the following staterments abhogt

the instruction is troe?

a. Theszecondinstructionis FILL (B, A)

b, Thezecond instructionis ENPTY (C, 13

c. The second instuction transfers water
fromB to C

d. The zecond instruction involves using the
water in bottle A

Consider the same sequence of three

instructions  ‘and the same initial @ state

mentioned ahove. Three more instrictions are

added at the end of the above sequence to have

& contain 4 litres of water. In this total

sequence of &z instructions, the fourth one is

DEAIN (AY This is the only DEADIN

instruction in the enfire sequence. At the end

of the exzecution of the above sequence, how

trach water (in litres) is contained in C7

a. One

b, Twuo

L. GED

d. Mone of these

Directions for guestions 87 to $8: For a real

nher x let




) = 1A 143), if x iz non-ne gative
= 1+, if 2 iz negative

P = /Y, n=2, 3.

87, Whatis the walue of the product, £2) £ 20802

frnfrn?
a. 143
b 3

e 1718

d. MNone ofthese
B4 tiz an integer 2 2. Then, what is the walue of

Fln+ fin+ £ ap
a -l

[

c. 1

d. Mone of these

Directions for questions 89 to 93:

sizteen teams hawve been inwited to participate in the
ABC Gold Cup cricket toumarment. The toumament is
conducted in two stages. In the first stage, the teams
are divided into two groups Fach group consists of
eight teams, with each team playing every other team
in its group exzactly once. At the end of the first stage,
the top four teams fom each group adwance to the
second stage wihile the rest are eliminated. The second
stage comprises of several rounds. A round involves
one match for each team. The winner of a match ina
round advances to the nest round, while the loser 18
elitrinated, The tearn that rermains undefeated in the
second stage is declared the winner and claigfi=s the
Gald Cup.

The tournament riles are such that each match fesults
in a wirmer and a loser with no posabilitiz'of a tie In
the first stage a team earns one pointfor each win and
no points for a loss. At the end ofthe first stage teams
in each group are ranked on the basé of total points to
determnine the qualifiers adsmncing toethe next stage
Ties are resclved by a seriesof camplex tie-breaking
rules =0 that exactly fous teams from each growp
advance to the nexttage.

a9, What {8 the tatal numnber of matches played in

thetoumament?
a. Oda
by, 95
. 63
i 35
o0, The miniroun ounber of wins needed for a

tearn in the first stage to guarantee its
adsrancernent to the nesd stage is:

a 5
b, A
c. 7
d 4

a1 What 15 the highest mamber of wins fora team
in the first stage in spite of which it would be
glitrinated at the end of first stage?

a 1
h, 2
c. 3
d. 4
03 What iz the munber of rounds i the second
stage ofthe tournatnent?”
a 1
h, 2
co 3
d. 4

3. Which of the following statemnerts 1z4mus?

a.  The winner will have more wing than any
other tearn in the towrnamesih

b, At the end of the firstystage, no team
elitnirated fom the tiurnament swill have
more wing than  atiy off the teams
quali firing for the second dgge.

c. [Itis possible that the Wanner will have the
same number ofwsns in the entire
toumaniEibas a team eliminated at the end
ofthe firststage.

d.  Thenuuber of teams with exactly one win
in the second stage of the tournament iz 4.

Dirvecions for Cuestions 94 to 110: Arwwer each of
the questions'ind ependently?

B0 Let N=55"+ 17 - 72 Nis divisible by

a. both7andl3

b, both 3 and 13

c. hoth 17and7

d. hoth 3 and 17

95. If+v'=01and[z-v| =02 then|x|+[v|

15 equal to

a 0.3

b 0.4

c. 02

d. 0.6

Ba. ABCD iz a thombus with the diagonals AC
and BD intersection at the origin on the x-v
plane. The equation of the straight line AD iz x
+ =1 What isthe equation of B C?
a x+y=-1

b, x-y=-1
c Z+y=1
d. Mone of the ahowve
o7 Consider a citcle with unit radivs. There are 7

adjacent sectors, 51, Ba, S5, .., 5y in the circle
such that their total area 1z (1/8)th of the atea
of the circle. Further, the area of the ¥ sector
istwice that of the (-1 sector, forj=2, ... 7.
What 15 the angle, in radians, subtended by the
arc of 31 at the centre of the circle?

a. mfa0E
b, w/2040
c. nfllla
d. nilsM
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There iz a wertical stack of hooks rared 1, 2
atd 3 on Table-&, with 1 at the hottom and 3
ont top. These are to be placed wertically on
Tahle-B with 1 at the bottom and 2 on the top,

by traking & series of moses fom one table to 104,

the other. Dring a mowe, the toptnost bools, or
the toptnost two bools, or all the three, can be
tnoved fotm one of the tables to the other IF
there are any boolks on the other table, the
stack being transferred should be placed, on
top ofthe existing hooks, without clangng the
order of bookes in the stacls that iz being moved
i1 that tmove. Ifthere areno hooles on the other
tahle, the stack iz amply placed on the other
tahle without distirbing the order of books in
it. What is the mintmum number of moves in
which the above fask can beaccomplished?

a. One

b, Two

c. Three

d Four

The area bounded by the three curves [ty =

Ez|=1,and [¥]=1, iz equal to; 105,

L,

a 4
b, 3
. 2
d 1

‘If the equation ¥ - &2 + bx -a = 0 has three
real roots, then it st be the case that,

a h=l

h. b=l

c. a=1

d a=xl
Ifa, b, care the sides ofa triangle,\and £+ 1

+ " =hc+ ca + ab, then the triange is 108.

a. equilateral

h. iszosceles

c. rightangled

d. obtuse angled

In the figqure AR =B = C=DE =FF =FG

=34, Then STaEws approxitmately:
E

107.
a. 15°
b 20°
c. 300
d. 25°
A shipping clerl has five boxes of different
bt unlonowrn weights each weighing less than
100 lzgs. The dlerk weighs the boxes in pairs.
The weights obtained are 110, 112, 113, 114,
115, 116, 117, 118, 120and 121 kgs. What iz 10.

theweight, in kgs, of the heaviest hox?

Gl

A2

fi4

. cannot e determined

There atre three cities &, B and C. Each of
these cities iz connected with the other two
cities by at least one direct road. If a traweller
wants to go from one city (ongind to another
city (destination), she can do so0 either by
trawrersing a road connecting the two cities
ditectly, ot by traversing two roads{the) first
cotnecting the ofigin to the thirddeity andthe
second  connecting  the third)cty <o the
destination. In all there are 3ggoutes fom A ta
B (including those wia C) Simdlatlythere are
23routes from B to Clincudingthosze wia A)
How many roads fare there®from A to C
directly?

a o

b 3

c 5

d 1@

The zet of all positive integers 1z the undon of
two dig it subsets:

oLy, CED, oy, b oand {g@lald
A, where

Llo=fD<. . <fn) . and gy <@y < .. <gln)
and

gy =fm+ 1 forall n= 1.

What 1z the walue of @137

a Zem

b, Two

c. Une

d. Carmot be determined

ABCDEFGH is a regular octagon. A and E are
opposite vertices of the octagon. & frog starts
jumping from wertex to wertess, beginning from
&, From any wertex of the octagon except E, it
tray jutp to either oft he two adjacent
vertices. When it reaches E| the frog stops and
says there Let a be the nurber of distinct
paths of exactly n jumps ending in E Then,
what i the walue of az1?

a. Zem

b, Four

c. 2n-l

d. Carmot be deterrmined

For all non-negative integers xand v, £z v) is
defined asbelow

fl,y)=y+1

fx+1,0)=fz 1)

ot Ly+ U= Bz, et L v

Then, what 15 the value of §1,2)7

a. Twuo

b, Four

c. Three

d. Carnot be deterrrined

Convett the mumber 1932 fram base 1010 base
12 Theresltis:

RO op




a. 1132
b 1911
c. 1192
d 1283

109, Two full tanls, one shaped lilee a cylinder and
the other like a cone, contain jet fael. The
cylitdrical tanls holds 500 litres more than the
cotical tanls After 200 litrel of fuel has been
putnped out fom each tanls the cylindrical
tank containe twice the amount of fizel in the
cotical tank How many litres of fuel did the
cylitdrical tanlk have when it was full?

a. 700

h. 1000
c. 1100
d. 1200

110, A farmer has decided to hild a wire fence
along one straight side of this property. For
thiz, he planned to place several fence-posts at
six metre intervals, with posts fized at both
ends of the side. After he bought the postz and
wire, he found that the number of posts he had
bought was five less than required. However,
he dizcovered that the munber of posts he had
bought would be just sufficient if he spaced
them eight metres apart. What iz the length of
the side of hiz property and how marny posts

did he buy?

a. 100 metres, 15
b, 100 metres 16
c. 120 metres, 15
d. 120 metres 16

SECTION-III

Directions for Questions 111 to 3205 There are ten
short passages given below. RBead each of the
passages and answer the question that followrs it.

111, Ina recent reporty theygtoss entolmernt ratios at
the pritrafy lesely that is, the number of
children errolled 181 classes one to five as a
proportian et all children aged 6 to 10, were
shiiwtpto ke wery high for most states; in mmaty
cases theywwvere way above 100 percent! These
fiutes are not worth atgrthing, since they are
Baszed on the official etroltnent data cornpiled
B school records. They might as well stand
for “gross exaggeration ratios”.

Which of the following options best suppotts

the claim that the ratios are exaggerated?

a. The definition of gross enrclment ratio
does not excude, in its  tunetator,
children below 6 years or above 10 years
etrolled it clazges oneto five.

b, A schod attendance study found that
maty children errolled in the schoaol

112,

113.

records were not meeting a rindrom
attendance requiretnent of 80 percent.

c. A study estimated that close to 22 percent
of children enrolled in the class one
records were helow 6 years ofage and still
to start going to school.

d. Demogrmaphic suveys show shifts in the
population profile which indicate that the
tnber of children in the age group 6 to
10 wears iz declining,

crytrandd suggests that the problem@frac sm
in foothall tray be present evefl today. “He
begins by verifiing an eatlier fgpothess that
clubs’ wage bills explaing 005G, of * their
petformance. Thns, if plagers” smlanes were to
be only based on their @hilities, clubs that
gpend more should(firish gher. If there is
pay discnmination againg some group of
players — fewer teains” hidding for black
players thusflowering the salanes for blacks
with the (garpé ahility as whites — that neat
relatianyrai no longer hold. He concludes that
certtain clubs seem to have achieved much less
than swhat they could have, by not recruiting
black players.

Which of the following findings would best

support Szymansd conclusions?

a. Certain clubs took advantage of the
situation by hiring above-average shares of
black players.

b, Clubs hired white players at relatively
high wages and did not show
proportiomately good performance.

c. During the study period, clubs in towms
with & history of discrimination against
blacks, under-performed relative to their
wage bills.

d. Clubs in one regon, which had higher
propations  of black  players, had
significanfly lower wage bills than their
counterparts in another regon which had
predornantly white players.

The pressure on Ialy's 257 jails has been
increasing rapidly. These jails are old and
overcrowded. They are supposed to hold up to
43,000 people -9,000 fewer than now San
WVittore in Milan, which has 1,800 itrnates, is
designed for 800. The munber of foreigners
inzide jails has also heen increasing. The
trivister in charge of prisons fears that
tensions tray stap, and so has recormended
to the goverriment an atnnesty policy.

Which one of the following, if tue, would

hawe tnost influenced the recormendation of

the tritrd stet?

a.  Opinion polls hawve indicated that trarsy
[talians fawour a general pardon.
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b, The opposition may be persuaded to help
sitice amnesties nust by approved by a
two-thirds e ority in parliament.

c. During a recent wisit to a large prison, the
Fope, whose pronouticernerts are talen
sefiondly, appealed for ‘a gesture of
clemeney.”

d. Shottly before the recortnendation was
tnade, 58 prisons reported dishrbances in
a period of tao weeks,

The offer of the govemment to make iodised
salt availahle at a low price of one nipee per
ldla iz welcome, especially  asnce  the
govermment seetns to be so concerned ghowt
the ill effects of non4dodised =alt. But it is
doubtful whether the offer will actually be
implemented.  Way  back in 1994, the
goverrunent, in an earlier effort, had prepared
reports outlining three new and simple bt
exzpenmental methods for reducing the costz of
iodization to about five paise per lalo. But
these reportz have remained just those —
repotts of paper

Which one of the following, if true, most

weakens the author’s contention that it is

doubtfil whether the offer wall be actually
impl emented?

a. The gowvemment proposes to save on costs
by using the three methods it has already
devized for iodisation.

b, The chain of fair-price distritition outlets
now covers all the districts of the stafe

c. Nlany small-scale and joint-sector atnits
hawve completed tnals to use thelthree
1odization methods for regqulas production.

d. The government which initiated the sarlier
effort is in place ever(today and has more
information on the effedts of non4odized
salt.

About 96% of Scandinavian moths have ears

tuned to the ulirasenie pulses that bats, their

predators, sfait. But the remaining 4% do not

hawe ears and areydeaf However, they have a

larger SAngspan than the heating moths, and

alzay hawe Higher wingloadings the ratio
hetwestind), wing's area and its weight —
tneating higher rranewverability.

Whielr one of the following can be best

itiferred from the ahowe passage?

a. A higher propottion of deaf moths than
hearing moths fall prey to bats.

b, Deaf moths tay tty to awvold bats by
frequent changes in their 8ight direction.

c. Deafroths are faster than heating moths,
and so are less prone to becorning a hat’s
dintier than heating moths.

d. The large wingspan enables deaf moths o
better receive and sense the pulses of their
bat predators.

114.
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Argentina’s beef cattle herd las dropped to
under 50 million fom 57 million ten years ago
in 1990 The anitmals are worth less, too
prices fell by over a third last year, before
tecovering, slightly. Dlost local meat packers
and processors are i fnancial trouble, and
tecent years have seent a stiing of plant
closures. The Beef Producers” Association has
tow cotne up with a trassive advertisement
catnpaim calling wpon Argentines to eat more
beef—their “juicy, healthy, rotun@l, “plate-
filling™ steaks.

Which one of the following, 4f tue srould

cottribute most toa failure ofithe Gatnpat oy

a. There has heen a changelin Consuner
preference towards eating leaner meats
like chiclen and fish.

b, Prices of imported | beef have heen
increasing, thus “fmEling locally growm
beef mef@sormpetitive in ternms of pricing,

c. The imehility to cross breed native catfle
wath iproved varieties has not increased
productionto adequate level s

d. ‘Bnimal rights pressure groups have come
up rapidly, demanding better and humane
tréatment of farnmyard ammals like beef
cattle.

The problem of traffic congestion in Athens

has been testing the ingenuity of politicians

and town planners for years. But the measures
adopted to date have not succeeded in
decreasing the mumber of cars en the roads in
the city centre. In 1980, an odds and evens
munbher- plate legidlation was introduced,
under which odd and even plates were tmmed
in the city centre on alternate days, thereby
expecting to halve the number of cars in the
city centre. Then in 1993 it was decreed that
all cars in use in the city centre must be fitted
with catalyhic comwerters; a regulation had just
then been introduced, substantially reducing
itnport tases on cars with catalytic converters,
the only condition being that the buyer of such

a ‘dean’ car offered for destruction a car at

least 15 wears ald.

Which one of the following options, ftrue,

would best suppott the clairm that the meamires

adopted to date hawe not succeeded?

a In the 19505, many farmilies purchased
seconud cars with the requisite odd or even
tnber plate.

b, In the mid-1990s, many farnidies found it
feasible to become frst-fitne car owners
by buying a car more than 15 years ald
and torning it in for a new car with
catalytic cotvretters.

c. Post-1993, many farrilies-seized  the
opportunity to sell their more than 13
year-old cars and buy “clean’ cars from the
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open marleet, even if it meant forgoing the
itnport tax subady.

d. All ofthe abowe,
Although in the limited sense of freedom
tegarding appointtnents and interral wotldng,
the independence of the Central Banle is
unequvocally ensured, the same cannot be
said of its right to pursue monetary policy
without co-ordination  with  the central
governnent. The role of the Cetitral Banls has
turned out to be subordinate and advisory in
tature.

Which of the following best suppotts the

coticlusion drawn in the passage?

a. A decision of the chainman of the Central
Bank to increase the bank mte by two
percentage points sent shock-wawves in
industry, academic and government circles
alike.

b, Government has repeatedly resorted to
monetization of the debt despite the
reservations of the Central Banle

c. The Central Bank does not need the
central gowernment’s nod for replacing
soiled curency notes.

d. The inability to remove coin shortage was
a major shortcorming of thiz government.

The Slwreta-chatta or the “White Umbrella”

was a symhol of sovereign political authority

placed over the monarchy’ s head at the time of
the coronation. The ruler so inaugrated wag
regarded not as a temporal autocat bui@Esithe
instnument of protective and  sheltsring
firmamernt of supreme law  The (wtute
umbrella syrbol iz of great antiguity and its
varied use illustrates the ultirate cofmon
basiz of non-theocratic ndhwe of states in the

Indian tradition. As suchgthe fumbrella is

found, although not neceszfily a white one,

over the head of L ord Barn, the Mohamimedan
sultans and Chatiapati Shivaji,

Which one@f the follewing best sutmrmarises

the abowe

passa gE

a. qTheplacifg of an vmbrella over the ruler’s
heathyiims a comnon practice in the Indan
gubcontinent.

b “The white wmbrella represented  the
instrurnent of firmatnernt of the supremme
law and the non-theocratic nature of
Indian states.

c. The umrhrella, not necessanly a white one,
was a sytobol  of soversign  political
authority.

d. The vatied use of the wmbrella syrrholised
the cotrinon basiz of the non-theocratic
tiature of states in the Indian tradition

The theory of games is suggested to some

exztent by parlour games such as chess and

bridge  Friedman illustrates two  distinct
features of these garmnes First, in a parlour
garne played for money, if one wins the other
{othersy loses (lose). Second, these games are
garnes itwolwing a sttategy. In a game of
chess, while choosing what action is to be
taken, a player tries to guess how higher
oppotient will react to the warious actions he ot
she might take [n contrast, the card-pastimme,
‘patienice’ or “solitaire” iz played only against
chatce,
Which one of the following 86\ hest“he
described az a “game™
a. The teamn of Tenzing Maggay and Edimnd
Hillaty climmhing Wit (Eseres forthe first
titne in hutnan b story.
b, A national levellessay writifig conpetition
c. A decisive war hetwesn the armed forces
of India and Paldi stamefrrer Kashimir
d. 0il Egpotters” Union deciding on wordd
oil prcesd, completely disregarding the
countigs which have at most minimal od
production.

Dirvecions, for (). 121 to 125: Read each of the
probleris given below and chose the hest answer
fiom athong the four given choices.

121,
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Persons X, ¥, & and () live in red, green,
vellow or blue coloured houses placed in a
SEQUENICE O a street.

S liwes in a yellow house. The green house is
adjacent to the blue house X does not lve
adjacent to £. The yellow house iz in between
the green and red houses. The colour of the
house ¥ lives in is:

a. hlue
b, green
c. ted

d. not possitle to determine

Iy bag can carry no more than ten books, I
st carry at least one book each of
tranagernent, tmatherratics,  physics  and
fiction. Also, for every tranagement hook [
catry 1 nost carry two or more fiction bools,
and for every mathematics bool T cany 1 st
catry two or rore pliysics books. Team 4, 3, 2
and [ points  for  each  management,
tratherratics, physics and  fiction  boolk,
respectively, [ carry in my bag 1 want to
traxtmise the points I can sarn by canying the
trost appropriate combination of hooks in try
bag The trasirnum poitts that [ can eatn are;
a 20

h, 2
c. 22
d. 23

Five persons with names P, Wl U, T and X live
separately in any one of the following: a




palace, a tnt, a fort, a house or a hotel. Each
onelikes two different colours from atnong the
following blue, Hack, red, vellow and green.
U likzes red and blue. T likes black. The person
livingin a palace does not like black or blue P
likes blue and red I likes yellow. 2{ lives ina
haotel. I livesin a:

a.  hut
b, palace
c. foit
d. house

124, There are ten ahitrals — two each of lions,
panthers, hison, bears, and deer — in a zoo.
The enclosures in the zoo are natned 2, ¥, 2,
Fand () and each enclosureis allotted to one
of the following attendants: Jack, Miohan,
shalini, Suman and Eita. Two animals of
different species are housed in each enclosure,
A lion and a deer cannot be together A
panther cannot be with eithera deer ora bison
suman attends to animals from among hison,
beer and panther only. Mohan attends to a lion
and a panther Jack does not attend to deer,
lionn or bison., X, Y and £ are allotted to
Ivlohan, Jack and Rita respectively. X and ()
enclosures have one animal of the =ame
species. £ and P lawe the zame pair of
animrals. The andmal s attended by Shaling are;
a. hear & hison
b, hison & deer
c. bear & lion
d. bear & panther

125, Eighty ldlograms (kg of store material 12 30 be
transported to a location 10 lonm @way, Aoy
munher of couners can be useddatranzport the
traterial. The material can be packed M any
tunber of units of 10,200 o #0kg Coutiers
charges are Fls. 10 per howd Coutiers travel at
the speed of 10 landbhr if theseate not canying
any load, at 5 ko if carrying 10kg, at 2
e if canryingn ks and at 1 ko' if
cartying 408z, A courler cannot carry more
than 40 kg oflead. The mirdroam cost at
which8lkg), of store matenal can he
trarisported tovdbs distinction will be:

a. O s hil
b, Rs160
L Rald4l
do R=120

Directions for Questions 126 to 130: Answer the
questions with reference to the table given el ow
Infortnation Tectnology Industry in India (Figures ate
it trillion U5 dollars)

ot DE

1994-95 198 5-06 1985-97 19a7-03 19493- 949
Sofiware:
Droptiectic 350 490 ara Q50 1250
Exports 485 T34 1083 1750 2650
Harx dhware
Droptuestic a1 1037 1050 1205 1026
Exports 177 35 286 201 4

Paipherals:

Drottestic 142 196 121 229 3219
Exports & & 14 19 12
Training 107 143 185 263 302
Matrderimce | 142 172 122 221 236
Metworking | 36 73 156 193 237

& oithrs

Tatal 2041 2556 507 5051 [T
126.  The total annual exports lay between 35 and

127.

128,

40 percent of the total annual business of the
IT industry, in the years:

a. 199703 & 1994-05

b, 1994-07 & 1997-03

c. 199607 & 1003-00

d. 1909407 & 1004-0%

The highest percentage growth 15 the total IT
business, relative to™the phesidi:s year was
achieved it

a. 199504
b, 1994-07F
c. 1997 4%
d. 199500

Which one“@f the following statetnents is

Cotrect?

an, Thew@nnual soffware espotts  steadiy
increased but annual hardware exports
steadily declined during 1994-1999,

b7 The anmnrl peripheral exports steadiy
increased dunng 1994-1990

c. The IT busness in training during 1994-
1999 @z ki gher than the total 1T business
in maintenance diring the same period.

d. Mone ofthe abowve statemerts i true.

Additional instructions for quesiions 129 and 130:

For any activity A, year X dominates wears ¥ if [T
tmisiness inactivity A, in the year X, 15 greater than the
IT business, in activity A, in the year ¥. For any two
IT business activities, & & B, year X doninates year ¥

ift

129,

130.

the IT business in activity &, in the year X, is
greater than or equal to the IT business, in
activity & intheyear ¥,

the IT siness in activity B, in the year X, is
greater than o equal to the [T business in
activity B inthe year ¥ and

there should be strict inequality in the case of
at least oneactivity.

For the IT hardware business activity, which
one of the following is not true?

a. 199708 dorminates 1996-97

b, 199708 dorminates 1995-96

c. 199598 dominates 1995-99

d. 1998-99 dominates 1996-97

For the two IT business activities, hardware
and peripherals, which one of the following is
tre?




1996-07 dorinates 1995-06
1995-09 dornates 1995-06
1997-08 dornates 1995-00
Mone of these

a0 oW

Directions for questions 131 to 140: Each question
k followed by two statements, A and B. Answer
each guestion using the follmwing instructions:

Choose | if the question can be answered by one of

the statetnents alone, Wit canhot be answered
by uaing the other statetnert alone.

Choose 2 if the question can be answered by using

eithet staternent alote.

Choaose 3 if the question can be answered by using

hoth the statements together, but cannot be
answered by using either statement alone,

Choosze 4 if the question cammot be answered even by

131

132,
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usng hoth statements together,

Consider three real tambers, 20 Y, and 7. s &

the stallest of these mumbers?

A, Xisgreater than at least one of ¥ and 2.

B. ¥ isgreater thanat least one of Xand 2.

a. Choose 1 if the question can be answered
by one of the statements alone, but cannot
be answered by using the other satement
alone.

b, Choose 2 if the question can be answered
by using either statement alone.

c. Choose 3 ifthe question can be angwered
by uang both the statemernts together
carmot he answered by uSing (Either
staternent alone.

d. Choose 4 if the question garmot be
answered even by uging both satements
together,

Let X be a real number. [sthetnodulue of X

necessatily less thatt 37

A HE+ 3 <1

B, 2Z-3nel

a. Choosell 1f%he question can be answered
bytohe ofithe statermnents alone, but cannot
be atswered by using the other staternent
al otie,

by, Choose 2 ifthe question can be answered
bypusing either staternent alone.

£ Choose 3 if the question can be answered
by using both the staternents together, bt
carnot be answered by using  either
staternent alote.

d. Choose 4 if the question carnot be
answered even by using both statements

together.
How tany  people  are  watching TV
progratrane P?
A, Mumber of people  watching TV

progamme ) is 1000 and mumhber of

134.
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people watching hoth the programmes, P
and (),1s 100.

B. Mumber of people watching either F or O
or hothis 1500,

a. Choose 1 if the question can be answered
by one of the statemnents alone, but cantiot
be atswered by using the other statement
alone.

b, Choose 2 if the question can be answered
by using either statetnent alone.

c. Choose 3 if the question can he@tsaered
by using both the staternents dogether, Gt
catmot he answered byQuang)either
statement alone.

d. Choose 4 if the guestionn catnot be
answered even by usihg holh statements
together.

Triangde POE hastangle (PR equal to 90

degrees. What is the valug’of PR + EO)7

A, Diametefwaf the, inscribed circle of the
triangle BOER iz equal to 10 cm.

B. Diametér o the crowmscribed crcle of the
triangle PUR iz equal to 18 cm

g Choozg 'l if the question can be answered
by one of the statements alone, but cannot
bE answered by using the other statement
alone.

b, Choose 2 if the question can be answered
by using either statement alone.

c. Choose 3 if the question can be answered
by usng both the staterments together, it
cannot he answered by using  either
statement alone.

d. Choose 4 if the question cannot he
answered even by using both statements
together.

Harshad bought shares of a company on a
certain day, and sold thern the nest day. While
buing and selling he had to pay to the broker
one percent of the tmnsaction walue of the
shares as brokerage. What was the profit
eamed by him per rupee spent on buying the
shares?

&, The sales price per share was 1.05 titmes
that of its purchase price.

B. Themunber of shares purchased was 100.

a. Choose 1 if the question can be answered
by one of the statements alone, but cannot
be answered by using the other statement
alone.

b, Choose 2 if the question can be answered
by using either statetnent alone.

c. Choose 3 if the question can be answered
by using both the statetnents together, it
catmot be answered by usng  either
statetnent alone.

d. Choose 4 if the question cannot be
answered even by using both statements
together.




134,

137

138,

For ary two real nurnbers:
a®b=1ifbothaandb are postive or botha
and b are negative,

= - 1 if one of the two murbers a and b 1=

poative and the other negative,

What 12 (2 @ 0) -5 @ -8)7

A a®hbizszeroizais zero

B. a®@b=bda

a. Choose 1 if the question can be answered
by one of the statements alone, but cannot
be answered by using the other satement
alone.

b, Choose 2 if the question can be answered
by using either staterment alone.

c. Choose 3 if the gquestion can be answered
by using both the staternents together, bt
carnot be answered by usng  either
staternert alone.

d. Choose 4 if the question carnot be
answered even by using both statements
together,

There are two straight lnes in the z-v plane

with equations:

ax+hy=c

due+ey="f

Do the twmo straight lines intersect?

A a h o, d, eand fare distinct real mumbers.

B. cand fare non-zero.

a. Choose 1 ifthe question can be answered
by one of the staterments alone, but cantot
be answered by using the other staternent
alotie.

b, Choose 2 ifthe question can be attswered
by uaing either statetnent alone)

c. Choose 3 ifthe question cafhe answered
by using both the statessents together, ot
carmot he  answered by using  either
statermnent alone.

d. Choose 4 if ¢the question camot be
answered eyen by usifig both statements
together,

O iz the cefitfe,offtwo concentric circle. AE is

a chord of the outer circle and it intersects the

inner citcleatypoints B and D, C iz a point an

the“ehord, in Yetween B and D what is the
value oFA/CE?

fny, BAC/CD=1

B, Athird dircle intersects the inner circle at
B and I and the point C iz on the line
joining the centres of the third circle and
the inner circle.

a. Choose 1 if the question can be answered
by one of the statements alone, but cannot
be answered by using the other satement
alone.

b, Choose 2 if the question can be answered
by using either staterment alone.

c. Choose 3 if the gquestion can be answered
by uang both the staternents together, bt

139,

140,

canmot be answered by using  either
staternent alone.

d. Choose 4 if the question cannot be
answered even by using both staterments
together.

Ghosh Babu has decided to tale a non-stop

flight from DMumbai to MNo-man’sland in

couth America. He iz scheduled to leawe

Mutmbai at 5 atn, Indian Standard Titme on

Decenber 10, 2000, What iz the local titne at

Motr-man-land when he reaches thers?

&, The awerage speed of the plate iz 00
ldlotnetres per hour.

B. The flight distanceis 10500 Klametres.

a. Choose 1 if the question cathbeanswered
by one of the statemnents alofie, but cannot
be answered by usng thewather statement
alone.

b, Choose 2 if the question can be answered
by usingEither statement alone.

c. Chooge 34T the question can be answered
bauang botl the staterments together, it
cannot, e answered by using  either
statement alone.

.y Choose 4 if the question cannot he
atisvwered even by using both statements
together.

What are the ages of two individuals, X and

T

&, The age difference between them is 6
VEars.

B. Theproduct of their agesis divisible by o

a. Choose 1 if the question can be answered
by one of the statements alone, but cannot
be answered by using the other statement
alone.

b, Choose 2 if the question can be answered
by using either staternent alone.

c. Choose 3 if the question can be answered
by uaing both the staternents together, tut
canmot be answered by usng  either
staternent alone.

d. Choose 4 if the question cannot be
answered even by using both staterments
together.

Directions for questions 141 to 145: Answer these
guestions based on the data provided in the table
helow: Factory Sector by Type of Ovmership

All figures in the table are in percent of the total for

the corresponding cohumnn
Sa ctor Factories | Beplo | Foeed Tross
yirert | Capital oipint
Public: 70 7T | 432 258
Cerdral govt 10 10.5 17.5 127
fuatedocal gowts | 52 162 43 115
Cerdral & Statef | 05 10 14 15
bcal gowts.
Tt 12 5.1 £.2 a4
Wholly private 903 646 | 468 635
Othuers ng 26 3.2 20
[Total 100 00 00| lonoo | Toooo | loooo J§




141

142,

143,

144,

145,

Suppose the average employrnent level 1z 60
per factory, The awverage employment in
wholly private” fctoriesis approamately:

a. 43

b 47

c. 50

d. 54

Armong the firms in different sectors, smlue
added per etnployes is highest in:

a. Central govertrent

b, Central and Stateflocal govertunents

c. Joint sector

d. Wholly private

Capital productivity iz defined as the gross
output walue per rupee of fized capital. The
three  sectors  with the higher capital
productivity, armanged in descending order are;

a. Joirt, wholly private, central and
stated ocal

b, Wholly pnwvate, joint, central and
stated ocal

c. Wholly private, cenfral and stateflocal,
joint

d. joint, wholly private, central.

A zector iz considered “pareto efficient”™ ifits
value added per ermployee and itz walue added
per rupee of fized capital is higher than those
of all other sectors. Based on the table data,
thepareto efficient sector is

a. Wholly private

b, Joint

c. Central and stateflocal

d. Others

The total walve added in all (sectass ds
estimated at Es. 14,000 croresmSuppose that
the mamnber of firms in the joint sector 1572700,
The average value added per/factogy, in R
crores, in the central gowt Qs

a. 141
b 141
e 131
d. 131

Directions for' guestions 146 to 149: Avswer these
guestiors hased on the data presented in the fioure

helow.

FEI fora couniry in a year, is the ratio {expressed
asea percentage) of its foreign equity inflows to its
GDP.“The following figure displays the FEIs for
select Asian couniries for the years 1997 and 1998,

12 5

2 ok B R R

H]E? mi%3?  [10ca

5.0g 342

il

Chirg Maleyela S Heme  Thailand

144.

147.

148,

149,

The country with the largest change in FEI in

1998 relative toits EET in 1997 is

a. India

b, China

c. Mlalaysa

d. Trailand

Baszed on the data prowded, it can be

coticluded that

a.  ahsolute value of foreign equity inflows in
1998 was higher than that in 1997 fofihoth
Thailatd and South Korea,

b, ahzdlute walue of foreig @ity dnflows
was lgher in 1995 for Thailand and Tower
for China than the cotfespondingralues in
1997

c. absdute value @f fore@ivequity inflows
was lower o U998 for both India and
China than the cdmésponding walues in
1997,

d. none of the above can be inferred,

It iz dmgwm that China’s GDF in 1998 was 79

higher thap its walue in 1997, while India’s

GDFdrews Iy 2% during the same period. The

GEP of South Korea, on the other hand, fell

by 5% Which of the following statemernts izl

arete?

l. Foreign equity inflows to China were
higher in 1993 than in 1997

2. Foreign equity inflows to China were
lower in 1995 than in 1997

3. Foreign equity inflows to India were
higher in 1993 than in 1997

4 Foreign equity inflows to South Korea
decreasedin 1998 relative to 1997,

5. Foreign equity inflows to South Korea

increased in 1998 relative to 1997,

1,3&4

,3&4

1,3&35

2&5

Chma s foreign equity inflows 1n 1998 were

10 tirnes that into India. It can be concluded

ttat:

a China’s GDF in 1998 was 40% higher
than that of India

b, China’s GDF in 1998 was 70% higher
than that of India

c. China’s GDF in 1998 was 50% higher
than that of India

d. no inferenice cat be drawn about relative
tnagnitudes of China’ s and India’s GDPs.

ﬂ..ﬂ!TF-‘

Directions for questions 150 to 153: Answer these
guestions based on the table helow:
The tahle shows tremds in external transactions of

Indian corporate secior during ihe period 199304

to 199798, In addition, following definitions hold
oood:




males, Imports, and Exzports, respectively denote the
sales, irnports and exportsin yeari.

Deficitin year [, Deficit; = Inports; - Exports;

Deficit Intensity in year [, DI = DeficitfGales Growth
rate of deficit intensity in wear I, GDI,;

=D — DD

Further, note that all imports are classified as either
raw tnatenial o capital goods,

Trends in External Transactions of Indian
Corporate Sector (All figures in %o)

Directions for questions 154 to 159: Answer these
guestions hased on the data given below:

The floures below present annual growth  rate,
expressed as the %o chance relative to the previous
veat, in four sectors of the econoroy of the Fepublic of
Feposia duting the 9 year period from 1990 to 1998
Azsume that the indesx of production for each of the
four sectors iz set at 100 in 1989 Further, the four
sectors:  rmanufacturing,  mining  and  gquartying,
glectticity, and chemicals, respectively, constituted
0%, 15%:, 10% of total mdustrial production’ 1958,

Wear 19a7- 1985- 198%5. 19a4- 1993-
g o7 A o5 o4

Export Bdencine® | 92 8.2 78 1.5 T3

Inport Infercite | 142 16.2 155 13.8 124

Ernported o | 202 192 1Th 163 161

rrmterialtotal cost

of Tanar mater ial

Irported  capital | 175 o8 113 163 185

goodsGross fived

ageets

Bitio of Experts (or Buports)to Sales.

150,  The highest growth tate in deficit intensity was

recorded in:

a. 1994-95

b, 1995-94

c. 1996-97

d. 1997-93

131, The value of the highest growth rate in deficit

intensity isapproximately;
a. B.453%

b 21%%

co 33.3%

d. 23.5%

152, In 199795 the total cost of raw materials is
estirnated as 50% of salgs of that wear The
tum over of Gross fized asséts, defined as the
ratio of sales to Gross fized @sséts, in 199708
13, approzamately,

a 3.3
b 4.3
c. 0.33

d. _notpossble to determine
1533, Wichgof, the following statements can be
inferred to'he true from the given data?

a Duringthe 5 year period between 1993-04
and 1997- 03, exgports have increased
EVEY VEar.

b, During the 5 year period between 1993-04
and 1997- 08, imports have decreased
EVENY Ve

c. Deficit in 1997-98 was lower than that in
1993-04

d. Deficit intensity has increased every year
between 1993-94 and 1995-97.

© ifarufacturing

Chemicals

154, Which iz the sector with the highest growth
during the period 1988 and 19057

a. Manufacturing

b, Mlining and quanying
c. Electrcty

d. Chemicals

135, The overall growth rate in 1991 of the four
sectors together is approzimately:

a 1%
b 1%

c. 2.5%
d 1.5%

156, When was the highest level of production in
the manufachiring sector achieved during the
fine-year period 1990-987
a. 1993




b, 1985
c. 1990
d. Cannot be determined

157 When was the lowest lewel of production of
the mining and gquattying sector achiewed
during the tine year period 1990- 15957

a. 1994

b 1993

oo 1990

d. Cannot be determined
E

138, The percentage increase of production in-the
four sectors, namely, marufactunng, minng &
quanying, electnicity and chemicals, taken
together, in 1994, relative o 1989, is
approzimately
a 15
b 20
c. 50
d. 40

159 It iz known that the index of total industrial
production in 1994 was 50 percent more that
in 1989 Then, the petcentage increase in
production between 1989 and 1994 in sectors
other than the four isted aboveis:

a. 575

h. E75

co 1375

d 475

Directions () 160 to 165 Amswer these guestions
bhased on the follhwing InformatefABC Lid.
produces widgets for which ihe demand is
mlimited and they can all of their production. The
graph below describes the montlly variable costs
icurred by the conpany as a fanction of the
guantity produced. In addition, eperating the plant
for one shift results in afixzed monthly costs for
second addition, gperating the plant for one shifi
results in a fixed nonthly cost of Rs. 500. Fized
nonthly costs “for \secomd shift operation are
estimated bR <. 1200, Each shift operation provides
capacity for producing 30 widgets per month.

Mote: WAwerage unit cost, AC = Total monthly
costeimonthly production, and harginal cost. WIC is
the mtewof change in total cost for wut change in
quartity produced.

Varlablk Cast

O
B0 : £
S000 : __,r""l
ey s
BT
2000 _—
1000 I et
O e
1 6 5 M5 21 26 M 3 41 48 A1 56

1a0.

161.

163,

163.

164.

145,

Total production in July is 40 units. What is

the approzimate average unit cost for July?

a.  3a00

b 90

c. 140

d 113

ABC Lid iz considering increasing the

production lesel What iz the approzimate

trarginal cost of increasing productioft frdm its

July lesrel of 40 units.

a 110

b, 130

c. 150

d. 180

From the data prowided it dan be inferred that,

for production levelsGn the mnge of 0 to &0

urits,

a. MC (isan, wmncreasing finction  of
pradustion quantity.

b, (M 1z a decreasing finction of production
guantify.

cooindtially MC iz a decreasing fanction of
production gquantity, attains a mindroun
and then it iz an increasing fanction of
production quantity.

d. none of the above.

Suppoze that each widget sells for Es. 130

What iz the profit earned by ABC Lid. in July?

(Profit iz defined as the excess of sales

revenue over total cost).

a. 2400

b, 1600

c. 400

d 0

Aszaume that the unit price is Fs. 150 and

profit is defined as the excess of sales revenue

over total costs What iz the monthly

production level of ABC Ltd at which the

profit ishighest?

a. 30

h. 50

c. 6l

d. 40

For ronthly production lesrel in the range of 0

to 30 UTnits,

a.  AC izalwayshigher than MC.

b, AC izalwayslower than IC.

c. AC is lower than MC up to a certain level
and then is higher than WC.

d. none of the abowe is te.
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